W =4 SIEY m pw| owm | wa
1 |Frindle(Paperback) And Athe 9,500 1 1 9,500
2 |diary of a wimpy kid 14@penjpeng 166,400 1 14 166,400
3 |Piggybook(Paperback) |AntliDrag 9,500 1 1 9,500
4 |Diary of a Young Girl FraniBant§ 10,700 1 1 10,700
5 |Harry Potter Box Set: Thg =4BLOJ 120,000 1 7 120,000
6 |Flipped(Paperback) Van|Embg 11,910 1 1 11,910
7 |The Giving Tree She|Harp; 20,100 | 1 1 20,100
8 |Charlotte's Web (NewbenE. B|Harp 9,500 1 1 9,500
9 |Frog and Toad CollectiofArnqHarp} 18,450 1 1 18,450
10 |The Lion, the Witch and jLewjHarp; 10,700 1 1 10,700
11 |The Little Prince(PaperbajAnt{Harv 11,500 1 1 11,500
12 |Number the Stars (1990 [Lois|Houd 9,500 1 1 9,500
13 |Hope for the Flowers(PagPaulPauli 16,900 1 1 16,900
14 |Fantastic Mr. Fox(Paperb{RoalPuffif 9,660 1 1 9,660
15 |Wonder @2} <&l > &4R. J[Rand 10,000 1 1 10,000
16 |Animal Farm (50th Anniv{Geo|Signg 11,900 1 1 11,900
17 |Hatchet (1988 Newbery NGarySimo| 9,500 1 1 9,500
18 |How to Steal a Dog(PapgqQ'C{Squa 9,500 1 1 9,500
19 |The Dot (Creatrilogy)(PagPetgWalkj 10,500 | 1 1 10,500
20 |To Kill a Mockingbird(3£4Lee,|Gran 10,700 1 1 10,700
21 |Holes (1999 Newbery MdLouiYear! 10,700 1 1 10,700
22 |Nate the Great and the HShaiRand 7,100 1 1 7,100
23 |AH=ZFO|(EBS CtF=2rJEBS|7tLH 17,000 1 1 17,000
24 &=, &4, 7150 25t AEBS|7HLH 16,000 1 1 16,000
25 |RIHZ ZH=9o| ATl Z= 0TI T1M| 13,800 1 1 13,800
26 | A1|71|°| o2 mF2l48 AZe 12,800 1 1 12,800
27 [AME A7|9 HHEBEH |&MIH0H 14,000 1 1 14,000
28 |&atel & EAZMZ|3 16,000 1 1 16,000
29 | 17|19 7|& org2z2|¢ 15,000 1 1 15,000
30 |@2[A =07 IHE=243 13,500 1 1 13,500
31 [HEA HYO[=e| ZE(AYHIZE 11,000 1 1 11,000
32 [MAE %51 = oS =jdtg ey 18,000 1 1 18,000
33 [EX SFAMDE3)  [xigzef] 11,000 [ 1 1 11,000
34 | &0l OH-lOF W78 E) (2 o] ey 9,000 1 1 9,000
35 |[E==0f *‘Xf(*“‘ Ho|l HaM™Emold 13,500 1 1 13,500
36 [HHAXE2 of A %tl-r? =72] 10000 | 1 1 10,000
37 |27t %%tcd 22|29 (ENTFE 14,000 1 1 14,000
38 [S47tE9| =0 YT E 13,000 1 1 13,000
39 |0] E2t2 = WX 3t7HO|Y+E 14,000 1 1 14,000
40 |RIZHE2 o A2 £ MOIZ| 7 E 10,000 1 1 10,000
41 K2 HSto|EEHAE BIEHTE 12,000 1 1 12,000
42 |MIAZE 2 100 2| OHFO|A[ = Y 11,200 1 1 11,200
43 [MA7t 2t 100 ol OHEOIA 2 UL 11,200 | 1 1 11,200
44 |[MAZt Dfo' 1003 o] Opg0| A=Y 11,200 1 1 11,200
45 |&3HE CHEEEAEHE 28=Y 12,000 1 1 12,000
46 |stE|stEte] W=t 7ty 0|32 10,000 1 1 10,000
47 (Mol ZE =7|(GAet (E2(aE 13,500 1 1 13,500
48 |BaEHZ 2ot A9 AfgER|OEl 13,000 1 1 13,000
49 |10CH, Lto| HHA SX/=EH1 13,000 1 1 13,000
50 [10CHOI A HMst= SAtoldel=E4 13,800 1 1 13,800
51 |@H™0| A2 £Lte? |2X|=2F3 12,000 1 1 12,000
52 7HN A ACHOIAM Ao ES[=2 15,000 1 1 15,000
53 |0 o Tlst AIEIES Yidg=2 18,000 1 1 18,000
54 |d2|A BEY et dsHZ2 17,800 1 1 17,800




55 |REHA petsty| st gdx[2e | 18,000 | 1 1 18,000
56 |2 mMetstr| X8 2452 H | 16,800 | 1 1 16,800
57 |22 metsty| M7tz geraads| 18,000 | 1 1 18,000
58 |FAE Metstr| @A g /29| 18,800 | 1 1 18,800
59 |SAHY metstr| X|dotojojxlas | 16,500 | 1 1 16,500
60 |FEA watstz| o2|eo1 2| 17,800 | 1 1 17,800
61 |FAE metsty| ZepshddZH| 17,000 | 1 1 17,000
62 |FAHY metsty| sieto|(gutaj 2| 22,000 | 1 1 22,000
63 |F&AMetsty| =23 Op7|2d2H | 18,800 | 1 1 18,800
64 |22 FAY metsh7|(§eads 13,500 1 1 13,500
65 220 2% & OFAE {47124 | 14,000 | 1 1 14,000
66 |ZE2& MRE)ZHOZOMZEH! 13,000 | 1 1 13,000
67 |AFOF AFEHAENS] OF 7)[O[|ZE1¢ 13,000 | 1 1 13,000
68 |[7t& NMyd olxZds 18,000 | 1 1 18,000
69 |Atm[QIA Sufzd) 22,000 | 1 1 22,000
70 |MO[/= =S0E 1. =9 24 12,800 | 1 1 12,800
71 |MO[Qe= =50d 2. =4 29} 12,800 | 1 1 12,800
72 |MOIQ= =50 H 3. 7|9 29} 12,800 | 1 1 12,800
73 |MOI/= =20 E 4. 37 12,800 | 1 1 12,800
74 [Ot=2 d2lst 1(B=t2 g 12,000 | 1 1 12,000
75 |Ot=2f Ma|E 2" ™ E)( 12,000 | 1 1 12,000
76 [Ot=2f Ma|3 3(BtstZ § 12,000 | 1 1 12,000
77 |79 BE 9| AAHIHY 25,000 | 1 1 25,000
78 |AlZte] 9AHEEEH@E 25,000 | 1 1 25,000
79 |HE0l= o Eel7] BF] 14,800 | 1 1 14,800
80 |Oj2 ntst et 2 FEfol 14,800 | 1 1 14,800
81 |02 #2 A EME1J 13,800 | 1 1 13,800
82 |EE EME: (M= 14,800 | 1 1 14,800
83 [MCH Bt gl Ztek&EE | 13,800 | 1 1 13,800
84 |02 K AAFE(NOHS 12,000 | 1 1 12,000
85 [O|&3A FZ EAMECHE 14,800 | 1 1 14,800
86 |O|SAOIA OJ2iE &ot2 14,800 | 1 1 14,800
87 TZHEEZ TIZE Y 14,800 | 1 1 14,800
88 [&oteh Y SEH ETRR 14,800 | 1 1 14,800
89 [X|A3tel I O]+7(0| H|0ol= 14,800 | 1 1 14,800
90 |X|A$Hol O1.23HO| = 40| x| 13,800 | 1 1 13,800
91 |OfEtHM HExHeErEa |28 16,000 | 1 1 16,000
92 |27t =% E =& O|0H{5HE 13,000 | 1 1 13,000
93 [20/E 2|1 48AI1ZHE S8 S 11,000 | 1 1 11,000
94 |HTE MZis| 2 M 0] [ZA 10,500 | 1 1 10,500
95 |AHTE Mzisl B} MYE [Z 10,500 | 1 1 10,500
96 [AMEI2 off OFETHALEN2 41T 14,500 | 1 1 14,500
97 |Mgoll CHst] 22[7t O [oF5 12,000 | 1 1 12,000
98 |Ml ol CHSIO| 22[7t O [ H 12,000 | 1 1 12,000
99 |Ml&ol CHSIO] R2[7t O [oHE 14,000 | 1 1 14,000
100 |Ml4Hof| Cisto] 22|17} 5 12,000 | 1 1 12,000
101 |[Ml&Hof| Cistol 22|74 5 14,000 | 1 1 14,000
102 |MlAtof| Cisto] 22|17} o 12,000 | 1 1 12,000
103 |Ml&tof| Cisto] 22|17} o 12,000 | 1 1 12,000
104 |MlAHof| Cisto] 22|17} o 12,000 | 1 1 12,000
105 |MlAtof| Cisto 22(7F H 12,000 | 1 1 12,000
106 |Ml4Hof| Cistol 22|17} 5 12,000 | 1 1 12,000
107 |Ml4Hof| Cistol 22|17} 5 14,000 | 1 1 14,000
108 |Ml4tof| Cistol 22|17} 5 14,000 | 1 1 14,000
109 |Ml4Hof| Cistol 22|17} o 14,000 | 1 1 14,000
110 |Ml&tof| Cisto] 22|17} o 14,000 | 1 1 14,000




111 (Mol tistod 227t § [29Uely 12,000 | 1 1 12,000
112 |[M&o Bisty 22(7F H [=2{Lel4 12,000 | 1 1 12,000
113 Mol tisto 227 5§ [ZHAH Q4 12,000 | 1 1 12,000
114 (MO thsto] @270 O [M7|LHelf 14,000 | 1 1 14,000
115 (MOl thsto] @270 O [ ELfelf 14,000 | 1 1 14,000
116 (MOl thoto] 2270 O [M7|LHelf 12,000 | 1 1 12,000
117 (MO thstol 2270 O [AO|LH@lf 12,000 | 1 1 12,000
118 |[M&ofl tistod 22|17t O D5y 12,000 | 1 1 12,000
119 Mol tistod 22|17t 5 (A oLy 14,000 | 1 1 14,000
120 |[M&ofl thstod 227t 5 |4 guiely 14,000 | 1 1 14,000
121 Mol tistod 227t 5§ [4gUiely 14,000 | 1 1 14,000
122 MOl Choto] @270 O [AFLHeIY 12000 | 1 1 12,000
123 (MOl tisto] 227t 5 [ZELHelf 14,000 | 1 1 14,000
124 MO tioto] 2270 O [ARLHeIY 14,000 | 1 1 14,000
125 [M&Ofl tisto] 2270 o [ZE2|Lf@lf 14,000 | 1 1 14,000
126 |M&ofl tistod 227t 5 |[& g4y 14,000 | 1 1 14,000
127 Mol tistod 22|17t 5 [Bro[uioly 14,000 | 1 1 14,000
128 (MO Bist 22(7F o |=2fLiel4 12,000 | 1 1 12,000
129 |[M&ofl tistod 227t 5 |4 gUiely 12,000 | 1 1 12,000
130 (MOl Choto] 2270 5 |4 4Lielf 14,000 | 1 1 14,000
131 (MOl Cioto] @270 O [#2|Lf@lf 12,000 | 1 1 12,000
132 (Mol Cioto] @270 O |4 4Lielf 12,000 | 1 1 12,000
133 |M&o Bist f2(7H o [=2[Lel4 12,000 | 1 1 12,000
134 Mol tistod 22|17t 5 |[& guiely 12,000 | 1 1 12,000
135 |[Ml&ofl tistod 22|17t 5 (A5 lY 14,000 | 1 1 14,000
136 |[Ml&ofl tistod 227t O [l 12,000 | 1 1 12,000
137 Mol tistod 22|17t 5 [Zo[uiely 12,000 | 1 1 12,000
138 [M&Ofl Cioto] @270 O [97|Lfelf 12,000 | 1 1 12,000
139 (Mol Cisto] 2270 o [OtSLiely 12,000 | 1 1 12,000
140 (MOl CHoto] @270 O [2[XLielf 12,000 | 1 1 12,000
141 (MOl Cioto] @270 O [M L@l 12,000 | 1 1 12,000
142 [M&ofl Cistol @270 o [SFLUel4 12,000 | 1 1 12,000
143 |M&ofl tistod 227t § [Z7(Wel4 12,000 | 1 1 12,000
144 |M&ofl tistod 22|17t & [8PXLelY 12,000 | 1 1 12,000
145 Mol tistod 227t 5 [fIFHelY 12,000 | 1 1 12,000
146 (MOl Cioto] @27t O [FRLHelf 12,000 | 1 1 12,000
147 [M&Ofl Cioto] @270 O [HALiel4 12,000 | 1 1 12,000
148 [M&0fl Cisto] @27t O [5&LH el 12,000 | 1 1 12,000
149 (MOl Cisto] @270 O [ 7|Lielf 12,000 | 1 1 12,000
150 |[Mletofl Bistod 227t 5 [IFHel4 12,000 | 1 1 12,000
151 Mol tistod 227t 5§ [ HHUiely 12,000 | 1 1 12,000
152 |Mleofl tistod 227t o [ guiely 14,000 | 1 1 14,000
153 |Mleofl Bistod 22|17t O [AX{Ll4 12,000 | 1 1 12,000
154 [M&Ofl Cisto] @270 O [St7|Lfelf 12,000 | 1 1 12,000
155 (Mol tisto] 2270 o |5 el 12000 | 1 1 12,000
156 (MOl CHoto] @270 O [FALHRIY 12,000 | 1 1 12,000
157 (Mol tisto] @27t o [SFLelf 12,000 | 1 1 12,000
158 |Ml&tofl Cistod 22|17t O |[HagUiely 12,000 | 1 1 12,000
159 |Mleofl tistod 227t o |4 guiely 12,000 | 1 1 12,000
160 |Mletofl Cistod 22|17t o | guiely 12,000 | 1 1 12,000
161 |[Meofl Cistod 22|17t o [HEUelY 12,000 | 1 1 12,000
162 [M&0fl Cioto] @27t o [HELielf 12000 | 1 1 12,000
163 [M&Ofl Cioto] @270 O [FALHRIY 12000 | 1 1 12,000
164 MO tioto] @27t O [IFLUelf 12000 | 1 1 12,000
165 (MOl Cisto] 227t o [F2lLielf 12,000 | 1 1 12,000
166 [Mletofl Cisto] 22|17t O [HoUielf 12,000 | 1 1 12,000




167 |0Fs0| 20?4 Zt O &M |71ofH{ Y 12,000 1 1 12,000
168 |OFO|2tA| O E0|2tA (M2 =7l 12,000 | 1 1 12,000
169 |2=0{& tACMZI DS Mot Y 12,000 | 1 1 12,000
170 |[A52 O™ St g XY 12,000 | 1 1 12,000
171 |LHE 22 L2t JolA [ s 12,000 | 1 1 12,000
172 [AFSHLF AFRE A2 D3 x[HHe 12,000 | 1 1 12,000
173 |F52 S0H7t= AMA I HHY 12,000 1 1 12,000
174 |OtSCHE2 At2tChE2E5|H[HHY 12,000 | 1 1 12,000
175 |Lte QIZH L Ched 2 agoelHiy 12,000 1 1 12,000
176 |MZE3tct= Z{(detm 4oy 10,000 | 1 1 10,000
177 |2 MO A2 nob (2433 11,000 | 1 1 11,000
178 |ZIztet 2™, n Mo 2 i/ 15000 1 1 15,000
179 [AZO| HAL Se2[x=2t 19,000 | 1 1 19,000
180 || & mAA (S =gt 2) [Of =2 11,500 | 1 1 11,500
181 [HIE& T d=2/(BAE JoHdl=% 12,000 1 1 12,000
182 [AE S27] 1 ofL| =%t 10,000 1 1 10,000
183 [AE 527]2 ofL| =%t 10,000 1 1 10,000
184 [AE 527| 3 ofL| =%t 10,000 1 1 10,000
185 A E 27| 4 ojL|=%| 10,000 | 1 1 10,000
186 |AIE 527 5 ojL|=% 10,000 1 1 10,000
187 |& E8f, 2ot H2l S(MY=2]| 13,000 | 1 1 13,000
188 |/l E SX|&= 2ot & (|HtHl= 13,500 | 1 1 13,500
189 |2|H{E0|(2|HH EEEH(E = 13,500 1 1 13,500
190 [10CHE {1+ ZAX ot RIB(MICHE| 12,000 | 1 1 12,000
191 |Ltol | Ad M7 =R (1{EHCHE 14,000 1 1 14,000
192 |72 2 H= AO|CH AM2|40| HCHE 13,000 1 1 13,000
193 |M&E HE ASMAAMFEE|] 13,000 | 1 1 13,000
194 [MAZ HHE Ol &3 olz|ct2| 15,000 | 1 1 15,000
195 [M&t=2 A2l 1089 E7||2|§CHE 12,000 1 1 12,000
196 |Lto| &, Lol & otz 11,800 | 1 1 11,800
197 |2AsH st 2t CHE 11,000 1 1 11,000
198 |0i|ot2| o |CtE 9,000 | 1 1 9,000
199 [S4l= 4 |CHE 9,000 1 1 9,000
200 (A EOl A & [cHE 10,000 1 1 10,000
201 |8l B0|+=¢ st |CHE 11,000 | 1 1 11,000
202 [ZE k= Z o |CtE 9,000 | 1 1 9,000
203 (27| Q2 |CHE 9,000 1 1 9,000
204 |71 £o| =% = |CHE 9,000 | 1 1 9,000
205 |AEZL2 SEL} - ¢t o |CHE 9,000 | 1 1 9,000
206 [O|H £H2| & Z |CHE 9,000 1 1 9,000
207 |stE 2 o] |CtE 9,000 1 1 9,000
208 [OF*E {I5HY g |CHE 9,000 | 1 1 9,000
209 HExX 2 28 o |CtE 9,000 | 1 1 9,000
210 [AHHA =5 g |CHE 8,000 | 1 1 8,000
211 |[ECte| - OJEfE EHHE |o] |CHE 9,000 | 1 1 9,000
212 [AEZL2 S ECE- 4 o |Ct& 9,000 | 1 1 9,000
213 |22l=2 €% ¥3 |0 [ChHE 8,000 1 1 8,000
214 |&LE7| 2 [CHE 9,000 | 1 1 9,000
215 &= 4 |CHE 9,000 1 1 9,000
216 |Hlo|H &4 T 2|Chat 13,000 1 1 13,000
217 [EF® R A AFEICHARY 14,000 | 1 1 14,000
218 [280|= 1: SECHA & A8 B 11,800 | 1 1 11,800
219 [280|= 2: 0|E gl &8 8= 11,800 | 1 1 11,800
220 [E80|E 3. & Hj 518 5= 11,800 | 1 1 11,800
221 |[E4I0|E 4 FIA 2|1 {8 5= 11,800 1 1 11,800
222 |GAe 25 Z|ERCEAHY 15,000 1 1 15,000




223 [A 7|A= Abf oro[of 1:[o & 11,000 [ 1 1 11,000
224 |A 7| A= Abaf Grojof 2:[#FACHAH T 11,000 | 1 1 11,000
225 (37t §Y¥ MI2jChAHY 28,000 | 1 1 28,000
226 |2 E C|XoI3te} ZXICFAR¢ 18,000 | 1 1 18,000
227 [QH|2t= EX} mZcFH 13,800 | 1 1 13,800
228 [Ci=7) &3} HjE SFE[CIATY 14,000 | 1 1 14,000
229 |[MOIMo] MAAF CHEs {Ho[eHE( 12,000 | 1 1 12,000
230 |[MOIM O] MAAF CHE S {AHe(EHE(¢ 12,000 | 1 1 12,000
231 |[dOIMo] MAAF CHE S {He(eHE(¢ 12,000 | 1 1 12,000
232 [dolMo] MAIAF CH2sd {&e(eHE( 13,000 | 1 1 13,000
233 [MOIMOo] MAAF CH2® {He(EHE(¢ 13,000 | 1 1 13,000
234 [MOlMo] MAAF CHE® JH0(eHE( 12,000 [ 1 1 12,000
235 [MOIM o] MAAF CHEsl H0(EHE( 12,000 [ 1 1 12,000
236 |ARIMOl MAAL CHRE 4 a|EH=¢ 12,000 | 1 1 12,000
237 [AOIM o] MAAF CHE® 8 0[cHE( 12,000 | 1 1 12,000
238 [MOIMo] MAAF CHE S 4 e(cHE( 12,000 | 1 1 12,000
239 [MolMo] MAAF CHEsd {de(ekE( 12,000 | 1 1 12,000
240 [AoIMo] MAAF CHRsd ddofckE( 12,000 | 1 1 12,000
241 [dOIMo] MAAF CH2 3 dMHe(eHE(¢ 12,000 | 1 1 12,000
242 |2 RIMOo| MAAL CHRE | R|EHE¢ 12,000 | 1 1 12,000
243 |2 BIM ol st AF L2 14 E[0}0|4 9,800 | 1 1 9,800
244 [doiMof st= AL 23 {Mdofofol§ 12,000 | 1 1 12,000
245 |[doiMof stz AL 23 {Mdofofo]f 12,000 | 1 1 12,000
246 [dolMo] st=AF 23 {dofofo]f 12,000 | 1 1 12,000
247 [doiMof st=AF 23 {dofofo]f 12,000 | 1 1 12,000
248 [dolMof st=AF 23 {dofofo]f 12,000 | 1 1 12,000
249 [HOlMo| ot AL CH2 Y 1A Eloto]3 12,000 | 1 1 12,000
250 [MoIMof stz AL 23 {Mdefofo]f 12,000 | 1 1 12,000
251 [MoiMo| stz AL 23 {Mdefofo]f 12,000 | 1 1 12,000
252 [doiMo| stz AL 23 {Mdefofo]f 12,000 | 1 1 12,000
253 [doiMo| stz AL 23 {Mdefofo]f 12,000 | 1 1 12,000
254 [MdoIMo| st=AF 23 JMefofo]ly 10,500 | 1 1 10,500
255 [MoiMo| stz AL 23 JMefofoly 12,000 | 1 1 12,000
256 [MOIMo| st AL 23 JMdolekE( 13,000 | 1 1 13,000
257 [MolMol st A} sl JMe(chE( 13,000 | 1 1 13,000
258 [AOlMo| ot A 2 34 Blotoly 10,500 | 1 1 10,500
259 [AolMo| ot Al CH2 S 44 Blotol§ 10,500 | 1 1 10,500
260 [AolMo| ot A 2 4 Blotoly 10,500 | 1 1 10,500
261 [doiMo| stz AL 23 4Mde(ofo]f 10,500 | 1 1 10,500
262 [MdOiMo| st=AL L2 {Mofofolf 10,500 | 1 1 10,500
263 [MdoIMo| stz AL 23 dMdofofoly 10,500 | 1 1 10,500
264 [dolMo| stz AL 23 dMdofofoly 10,500 | 1 1 10,500
265 | =2 7N & E|22(EHH| R EH| 11,000 | 1 1 11,000
266 |HHEBIRHCHH| HAE 24X-8EH] [ 11,000 | 1 1 11,000
267 |04 A 7Hof B HA|ZQEHI[ 11,000 | 1 1 11,000
268 |02 AOLA ofolet=1 12,000 [ 1 1 12,000
269 |HHEHEIXIO| (2 E EHYZAEEL 11,000 1 1 11,000
270 [sH=1t HH2tTH St A(G R 5HE 8800 | 1 1 8,800
271 [AHEZH AR £ EEETEE B 1 14,000
272 |sEsiR Y =z(g%| 18,000 | 1 1 18,000
273 |2MXIH ROl EHAY dCHACI% | 12,000 | 1 1 12,000
274 |H|H 23t AEAM XRE [20(H%&| 13,000 | 1 1 13,000
275 [MAOIM ZHE 412 2xHE|ojEs| 13,000 | 1 1 13,000
276 |A2 EX|SICH 2Ag&] 13,000 1 1 13,000
277 |[2AlsiR =Y =z|g&| 18,000 1 1 18,000
278 |KtisiE = =z|g%| 18,000 | 1 1 18,000




279 |MROIAM EA = atMFAG =] 12,000 | 1 1 12,000
280 |MRIOIA A 9l= Al290|LiE&| 12,000 | 1 1 12,000
281 |MROIA A 9= |l [AOjE&| 12,000 | 1 1 12,000
282 |MROIA BA Al FCH|H=| 12,000 | 1 1 12,000
283 [XHZIOIA BEAY 91= ZFIBHSINC&| 12,000 | 1 1 12,000
284 |[MROIM M Q= siE3AZIEE| 12,000 | 1 1 12,000
285 |[XHZUOIA BhAfQl= 22| (AHOjE&| 12,000 | 1 1 12,000
286 [KHZUOIA BHAfSI= AX|CHA|Cl&| 12,000 | 1 1 12,000
287 |MROIM M A= =3 (MFG=| 12,000 | 1 1 12,000
288 |MROIA EA = A =] 12,000 | 1 1 12,000
289 |MROIA A 1= OIN [AFZIE =] 12,000 | 1 1 12,000
290 |X|Ftutst O|OF7[(RH IO AALD|E =] 12,000 | 1 1 12,000
291 | RIOIAM M= 3t MOl &| 12,000 | 1 1 12,000
292 |= THRUOIM HA| Q= =3AtAD&| 12,000 | 1 1 12,000
293 |MROIM M Q= =3t (MRS E| 12,000 | 1 1 12,000
204 [SEE YEEN 28{gA4 18,000 | 1 1 18,000
295 [(m7tE(E2ME FEMYE=S 10,000 1 1 10,000
296 [MA2 O|EA m271 213 d=H3 12,000 | 1 1 12,000
297 |2t Hi R Ttat I=H} 13,000 | 1 1 13,000
298 |2 A 8= B AUX A =H 9,500 | 1 1 9,500
299 |F2 ZAIEtRtol ol 4%t = =1} 12,000 | 1 1 12,000
300 [EHRO| 1: O 2IAH gEf=SH|F 10,000 | 1 1 10,000
301 |EN0| 2: A2l AL |HfER=HI} 10,000 | 1 1 10,000
302 |EHIO| 3: HpAIE BFEf=H[] 10,000 | 1 1 10,000
303 |EHQ0| 4. =EXte] 2 |HfENEHI} 10,000 | 1 1 10,000
304 |EN0| 5. 20| £/0f [HfEHEHI] 10,000 | 1 1 10,000
305 |2 &O|E o 7h=H(E4E F=H4 13,800 | 1 1 13,800
306 |MIAIE A0 EX Y7 EHfSO0H 13,000 | 1 1 13,000
307 |OlHX] 7], A=A siZ|ol3S0H 13,000 | 1 1 13,000
308 [2030 &= MY K= MAUEYSO0H 14,000 | 1 1 14,000
309 |F4lol F0I12 DNAZL OHE RS | 17,000 | 1 1 17,000
310 (AFE T & == JCHH(EY[2EFa¢ 12,000 | 1 1 12,000
311 [AOI7F 217} A (FEEL0I5[EE 13,000 | 1 1 13,000
312 | B2 &= Xest7Id [#3Cjo 15,000 | 1 1 15,000
313 |LHE 222 6K O e(22(=el: 11,000 | 1 1 11,000
314 |0]219] Y&l (Vivavivo 34) [LEREEQl: 12,000 1 1 12,000
315 | MyY7|=2 oot [ZH=eld 12,000 | 1 1 12,000
316 |=etEM3Eet 1 olgeoli 12,000 [ 1 1 12,000
317 |=etEM=Es 2 o|gEeoli 12,000 | 1 1 12,000
318 |etENEE e 3 olgEeoli 12,000 | 1 1 12,000
319 [ACHE 3 O oI EHeeeld 11,000 | 1 1 11,000
320 |MCHE 23t MOIYeE I =R 12,000 | 1 1 12,000
321 [OFRAE g X 2 [EX[EQl: 12,000 | 1 1 12,000
322 |{WCH Bt Z2 Z siFFcel: 10,000 | 1 1 10,000
323 |8YAlE CHIEOsEFE=Qd 11,000 | 1 1 11,000
324 | M S0 AAME A(vivav|2EH=ECE 11,000 | 1 1 11,000
325 |E8|H (70 T (Vivavivo g7 A{EE Q14 9,500 | 1 1 9,500
326 |St=o|H Bo| atsprttez[=od 12,000 | 1 1 12,000
327 |SESF 0|07 HFHJ £ Ol 9,000 | 1 1 9,000
328 |SHESF 0[0k7] 2 HH| £ 01 7,500 | 1 1 7,500
329 |DNA EMd (2t EIEl AFEfL|2HY 12,500 | 1 1 12,500
330 [A40M EH StEEY (A2t 15800 | 1 1 15,800
331 [MI&S HHE MXHE2l 10(Z2 72t 13,800 | 1 1 13,800
332 |K[EF &l4ef FH| aHEHZFaHY 9,800 | 1 1 9,800
333 [10CH A EZ m=Eok2l4 14,000 | 1 1 14,000
334 |[2QHARKLES| B g HojAupEot2lf 14,000 | 1 1 14,000




335 [ZA2[E &0 high! otgofz[f 14,000 [ 1 [ 14,000
336 | LHE PLbE S2tajuEoreld 14,000 | 1 1 14,000
337 |AMZF A2 RECH 1 ZE0r= 6,500 | 1 1 6,500
338 |A|7} LA = RECE 2 28015 6,500 | 1 1 6,500
339 [AI7} LHAHIE RT3 280 7,000 [ 1 1 7,000
340 |Lt= & AECH A= [2t0[0r24 14,000 | 1 1 14,000
341 L= 31 EfAL 22 om[o|HTta 14,000 | 1 1 14,000
342 |910{9] 2=(1702HE 7| Eo|7|Z=2f 13,800 | 1 1 13,800
343 |AMIHES flst Ble QAo 12,000 | 1 1 12,000
344 |MCHES st ZoSEJHoll 12,000 | 1 1 12,000
345 |X2l= {8 M2 2120l 16,500 | 1 1 16,500
346 |2 E =0| 2N (SIHH WM 9,000 | 1 1 9,000
347 |HE C} BiESL|C} 2sfoc|] 14,000 | 1 1 14,000
348 |X|T#E QHOpR 2s23st] 11,000 | 1 1 11,000
349 |1Q84 1 2ef2sH 14,800 | 1 1 14,800
350 [1Q84 2 2af2sd 14,800 | 1 1 14,800
351 [1Q84 3 Faj2s4 15800 | 1 1 15,800
352 | #AQl 2= (2etsu B4de|Ee 11,500 | 1 1 11,500
353 |29 BHEstsHHAE A= Y25 11,500 | 1 1 11,500
354 [LIO| #3502 H7|M{Y =2 11,500 | 1 1 11,500
355 |HA7F O £0| &= 507HME &3 14,800 | 1 1 14,800
356 |LHZF Z1E of% 2 [} 2M2s4 10,000 | 1 1 10,000
357 |LHol A (2ets4 H4Zdsi2sd 11,000 | 1 1 11,000
358 |S0&0A BtstH s{Z|2sty 11,500 | 1 1 11,500
359 [WEPY Dol MetAESHo|ME3 11,500 | 1 1 11,500
360 |REdo| MEHESSHEYESH 11,500 | 1 1 11,500
361 |28 7+F Al 2323 11,000 | 1 1 11,000
362 |MAE A4 HolA ZA(olHEsHd 11,500 | 1 1 11,500
363 |2 = At o228t 12,000 [ 1 1 12,000
364 |85l oo S(E&sHIFoIMESH 12,000 | 1 1 12,000
365 [HAES 9t L= TE{TEESHY 12,000 | 1 1 12,000
366 M2l HEZZ L chEEYEeH 11,500 | 1 1 11,500
367 |20 cef(Eetsul t=4dPEe 15000 | 1 1 15,000
368 |22 (2t AW 5724 &2 12,500 | 1 1 12,500
369 |5 o 2 Xy 2sH 28,000 | 1 1 28,000
370 |CHEIX] BE 1OHFE)  |H 23 12,000 | 1 1 12,000
371 [CHEIX] BE 200 -FE) | 23 12,000 | 1 1 12,000
372 [O|X 710lE @H Oof IL||4{l &5 13,000 | 1 1 13,000
373 |ol2] ZEQt SR 4 |). K|2EH 9,500 | 1 1 9,500
374 |oie2] ZEet Z32| 82 |). K|28H 9,500 | 1 1 9,500
375 |oiel ZEet Z32 88 |). K|28H 9,500 | 1 1 9,500
376 |oie2l ZEet Z32| 82 |). K|28H 9,500 | 1 1 9,500
377 |oiel ZEet Z32| 82 |). K|28H 9,500 | 1 1 9,500
378 [sllE] ZEQF EALE Z|AL). K[EEH 9,500 | 1 1 9,500
379 |oi2l ZEe SR 1 ). K|28H 9,500 | 1 1 9,500
380 |ol2l ZEQ SR 2 |). K|2EH 9,500 | 1 1 9,500
381 [sll2] ZEQt =X}t 3 ). K[EEH 9,500 | 1 1 9,500
382 |Si2| ZE QL SALE 7[AL]). K|ESH 9,500 | 1 1 9,500
383 |SH2| ZEQF SALE 7[AL]). K|E5H 9,500 | 1 1 9,500
384 |Si2| ZEQF SALE 7[AL]). K|E5H 9,500 | 1 1 9,500
385 |SH2| ZEQF SALE Z[AH]). K|E8H 9,500 | 1 1 9,500
386 |di2| ZEQF =2 ft2 ). K|ZE38H 9,500 | 1 1 9,500
387 [sll2] ZEet 22| TH3 ). K[EEH 9,500 | 1 1 9,500
388 |di2| ZEQt =2 ft4 ). K|E38H 9,500 | 1 1 9,500
389 [sfl2] ZE{Qf Of=ZIEIO| |). K[EEH 9,500 | 1 1 9,500
390 o] ZEQf HZol d 1 |). K|28H 9,000 | 1 1 9,000




391 |sfi2| ZZEQt H|Ho| & 2 |). K| &4} 9,000 1 1 9,000
392 |sfl2| ZEQt =2 Tt 1 |). K|2%H 9,500 1 1 9,500
393 [sfl2] ZZE{Qf OF=7}EIO| |) K [EEH 9,500 [ 1 1 9,500
394 |si2| ZEQ O AL = |). K |28l 9,000 | 1 1 9,000
395 [SH2] ZEQf OpjALe| & |). K[EEH 9,000 | 1 1 9,000
396 [MAE MERS Est2HAF S 13,000 | 1 1 13,000
397 |10CH, QIMES HH L= ZIZ2|Z40(CH 15,000 1 1 15,000
398 [10Cf, QI8 B = Hu|LHFO|CH 15000 | 1 1 15,000
399 |AAtSHL BHE1 s ASH 45 0|C 14,800 | 1 1 14,800
400 |O|7|E 1: stz A7 0|2y 12,000 1 1 12,000
401 |47 E 2: Ao 78 {M=0oj2i§ 12,000 | 1 1 12,000
402 [EI7|E 4: 25t of & YK 0|2 12,000 1 1 12,000
403 |RO|7|E 13; A2 ™ML M o)) 12,000 1 1 12,000
404 |&1T7|E 12: OPE st Z7HA| =Ol2§ 12,000 | 1 1 12,000
405 |&lO|7|E 5. 9|7|2] AFEI K| 0|2y 12,000 1 1 12,000
406 [FIZ|E 10: A7t EFE Sx| O]z 12,000 1 1 12,000
407 [FI7|E o HZEl Bt (x| O]z 12,000 1 1 12,000
408 [AIO|7|E 6: sk =8 YIx| O]z 12,000 1 1 12,000
409 [RO7|E 8 ==& 278 (X D0o|zy 12,000 1 1 12,000
410 |®O)7|1E 11: B2t =@M gojzfy 12,000 | 1 1 12,000
411 [@O[7|E 7. ==2| WHEA ZO|2§ 12,000 | 1 1 12,000
412 |&D] 7|1E 15 7|M o] ZHAN=Oj2y 12,000 | 1 1 12,000
413 |80 7| 14; =A% 2| gA o)) 12,000 1 1 12,000
414 |3O| 7|1E 3. X|efo| M| X O]z 12,000 1 1 12,000
415 [2I] 7|E 16; AZX FGK H0O|2Y 13,000 | 1 1 13,000
416 |QIE{ Ul Li2to| A2|AD|4tH0|2) 9,500 | 1 1 9,500
417 |[EXH E|RAS W 20| ZEX0/M) 11,000 | 1 1 11,000
418 |LH7H AtEtot Oj=2 2loj={ 16,000 | 1 1 16,000
419 (82 AX|F(E2 A{EZHES 13,000 1 1 13,000
420 |8AEHEZ Q[ 0|0t7| 5§ G HtCt 11,000 1 1 11,000
421 |7FEULIIHEHZE 24) | HSlHEE 11,000 1 1 11,000
422 |+ Y 7|AE=2 3 16) |AtH[HHE 8,000 1 1 8,000
423 |0 =72t H=(Et28 19) |ZOo[HtE 9,000 1 1 9,000
424 |HX7] |2 XX S dsl|HtEd 11,000 | 1 1 11,000
425 [LH(EH=ZE 8) ol ZgHrgt 9,500 | 1 1 9,500
426 [Lt= W2t =71 2t 0|7 HHE 11,000 1 1 11,000
427 |Lte| O (B2 4 0| 4He 9,000 | 1 1 9,000
428 |SE L QI (BH=28 2) |O|F7fHHE 11,000 1 1 11,000
429 |Fot S23o| HH(HS g HIE 11,000 1 1 11,000
430 [HEEHO| =0 LY7t RIX| SHOo|AHtEY 11,000 | 1 1 11,000
431 |2Opete| AHef(Et=2 3l 5) |E|oj[HtE 8,000 1 1 8,000
432 [LefAFHE ROMMEHZSEE JHIE 9,000 1 1 9,000
433 |0 o Lot SJASLICH(o| gHtEY 11,000 | 1 1 11,000
434 |G| Ao QIEHA (B E |Of2|HHE 11,000 1 1 11,000
435 |20| LHE 22 o (Y| AERHHE 8,000 | 1 1 8,000
436 |BStM o222 190/ AHt2H 11,000 | 1 1 11,000
437 |ZEAE SHEE2E 6) |[Ho[HIEY 11,000 1 1 11,000
438 [100HE et A 2 You|BtL] 16,800 1 1 16,800
439 |LW7h At =5t o 5 et 20,000 1 1 20,000
440 |0|E ECt 1jSto)| WX Cf (QFEEkL] 14,500 | 1 1 14,500
441 |08 5 T (T2 M aqoretL] 12,000 | 1 1 12,000
442 |A|BHHA 3t OfmpEA AL 13,000 | 1 1 13,000
443 [of HO| EXH L7t EXAUS|HL 13,000 | 1 1 13,000
444 |4 MA S X L7HER (A FEL 12,000 | 1 1 12,000
445 |9 AE0| X L7t FEF YL 13,000 1 1 13,000
446 |9 QIS X SO| EXM LT (4L 13,000 1 1 13,000




447 |21 M| OFO| OfOF7| (O] 2 M 282 14,500 1 1 14,500
448 |2 A@O[f1H 2 4o1deref 14,000 | 1 T 14,000
449 |2 SX @O 2= EMH[HST 14,000 | 1 1 14,000
450 g E'H g3ere] 12,000 [ 1 T 12,000
451 X2 o] &7 Jlgere) 13,800 | 1 T 13,800
452 | X232l 3IE Ef2 ~H[HEZ[E 14,800 | 1 1 14,800
453 |28 ZE(Ot2Cte EAyZAEE] 11,000 [ 1 1 11,000
454 |0/ H E0F Y| HOIE|dYE= 13,800 1 1 13,800
455 |LI7F & 84 mgwxr -2 11,000 | 1 T 11,000
256 |22 =OIAFE(2022) NS E8l=a][ 70,000 | 1 T 70,000
457 |1 LE(O]2I0]E 2[3t S{0[0[E = 9,500 | 1 1 9,500
458 |2f E2fH|OFEf( 01€I0|% {2822 9,500 | 1 1 9,500
459 |LfH| E0I(0]ZI0[Z (S |0[X[EE 9,500 | 1 1 9,500
460 |2} ERU(0{2I0|E I3t S{AMEE 9,500 | 1 1 9,500
461 |XE210] & & YopEHHAEH] 14,000 | 1 1 14,000
462 |[SEHA24A (RS £98I{E7][ 16,000 | 1 1 16,000
463 |LtE AtOF2[OFRIS ool 27| 15,000 1 1 15,000
464 |0JAEH Z Tpstol| wix|CEH S 271 12,500 | 1 1 12,500
465 |BHK] $ASE 1 o2 [UEefE2] 13,800 | 1 1 13,800
466 [HASFOA SSSEFEYE=Z] 13800 1 1 13,800
467 M7 AShEEo = A[R{ErA=ME 13,000 | 1 1 13,000
468 |14% OF29] X[ = —O[=Wf 14,000 | 1 1 14,000
469 [1480] A|ESH= HS AMiFEHE 13,000 [ 1 1 13,000
470 |OpE MY E 238t 101|od= @M 20,000 | 1 1 20,000
471 [HAd FE7HH(ED H3s(=HE 15000 | 1 1 15,000
472 |0 EEl= MHEES DYty sy 12,000 | 1 1 12,000
473 *ML# oo (A BtE4BHX[EAF 15000 [ 1 1 15,000
474 [A0|E AHE 123 [H7[EAF 12,000 | 1 1 12,000
475 |[0|S AFHE 22t3h)  |[H7[2AF 12,000 | 1 1 12,000
476 |BM ZHEISLIE A| HA=5H 11,000 | 1 1 11,000
477 |2{U7F O| A AF3l2todeta|2Ef 14,500 | 1 1 14,500
478 |Ltot & M0 of OF ef 2[0[X[EEF 14,000 | 1 1 14,000
479 |0f23 A W, 28 = ofMolA=EF 14500 | 1 1 14,500
480 |$ASH AE S MZHZAASEEF 15000 | 1 1 15,000
481 |[33HAZ 1 oielE=¢ 14,000 | 1 1 14,000
482 |33HAZF 2 orel==§ 14,000 | 1 1 14,000
483 |23HAZF 3 orel==§ 14,000 | 1 1 14,000
484 [3otHFT 4 Ord=Z§ 14,000 | 1 1 14,000
485 |Lto| #imo|of ¢iol AHEZ{ 13,000 | 1 1 13,000
486 |Lto| #imo|of 1ol AHEZ{ 14,000 | 1 1 14,000
487 |Lto| #impojof ¢lol &+ [AHEZ{ 16,000 | 1 1 16,000
488 |Lto| #imto|of 1ol AH[EZ{ 13,000 | 1 1 13,000
489 |[SAH ALEAH AY Al2I[$XEZE 13,000 | 1 1 13,000
490 |2 ZAMOIEA AY Al2[35ZE=¢ 13,000 | 1 1 13,000
491 |AA mHo|o|(FHAH AY AllFZIEZ¢ 13,000 | 1 1 13,000
492 |4 0|2 207 J.S|2=¢ 15000 | 1 1 15,000
493 [E0/Z = = UL OIASE 15,000 1 1 15,000
494 |EH QIE MOIAA CtL{E={ 15,000 | 1 1 15,000
495 |l=EQIE Egole| Al7|s|A0[HE4 15000 | 1 1 15,000
496 7H e do oichERmio|gHE4 12,000 | 1 1 12,000
497 |ZE 2K MAAHOILO) 40 FH[E1 23,000 1 1 23,000
498 7|0+ HMEX(EZTM 20|20[H|E] 12,000 | 1 1 12,000
499 [2AcMsUchezdM[ZAHE] 13,000 [ 1 1 13,000
500 |=CHA 7H 5271 BJop7tEH| &1 13,000 [ 1 1 13,000
501 |22 (H[EA ZA&M 13) [0/8[e|&] 12,000 | 1 1 12,000
502 [CIXFQle =ztolatme: Cl|ZAlH[&] 12,000 | 1 1 12,000




503 |AleF 7iEto| HIEE Y1 [AMH|E1 12,000 1 1 12,000
504 |E7|MZE2 LIE ChA| BHOIHH|E1 12,000 1 1 12,000
505 |2}2t0| XMt Op=oleta?{dtgH| &1 12,000 | 1 1 12,000
506 |[SFXtO| ESE LfZCHo[YB[ES 12,000 | 1 1 12,000
507 |2ElIE A2ATF A=TtE|Z2gHIES 12,000 [ 1 1 12,000
508 |H&= Z7p7F 2|0 AlL|2: $Z4SH[ES 12,000 | 1 1 12,000
509 |HHQl= SAI0| 2318 PHZAMH|IED 12,000 1 1 12,000
510 [HEd2 =2 Ot A2 |F&HIE; 12,000 | 1 1 12,000
511 |He AMEEE 2o 48HH|E1 12,000 1 1 12,000
512 |[A4E2 W HAES BHASFHIE; 12,000 | 1 1 12,000
513 |l Ot22 2 == EX[HE; 12,000 | 1 1 12,000
514 |Lf of 20| H|A0| HHFICHZAR/H|E1 12,000 1 1 12,000
515 |1 F &AL XHSAHE BHEHAXIHIE; 12,000 | 1 1 12,000
516 [AOFEZO0| MAS HHRC|ZAIHES 12,000 [ 1 1 12,000
517 |M%Z O 7t ZQUCHEFYLIAIHIE] 10,000 1 1 10,000
518 |=8f HACHEEHEAR|BIAHIEL 15,000 1 1 15,000
519 |8 THEFEM 81) [F3JHIE1s 13,000 1 1 13,000
520 |O{MAHL A2 A2 £ |ZQH|E; 12,000 1 1 12,000
521 |ANQ] GAHHAEHE QIJLIFHIEs 14,000 1 1 14,000
522 |mbefLf O|€H|E] 12,000 | 1 1 12,000
523 |StLIQF I (EFEHM 39X MH|E1 12,000 1 1 12,000
524 [6}0|d A=EFTM 26)2S[BIEF 11,000 | 1 1 11,000
525 (353 5:1931-1935 PHFEHEFA[H|OH 14,000 | 1 1 14,000
526 |35 4: 1926-1930 St/ (2FA|H|OF 14,000 | 1 1 14,000
527 |35'F 3: 1921-1925 o| @ &EFA|H|OF 15,000 | 1 1 15,000
528 |35 2: 1916-1920 3-15{2tA|H|O 14,000 | 1 1 14,000
529 (35 1: 1910-1915 £ EHEEA[H[OH 14,000 | 1 1 14,000
530 | EHA 1 &{51H|0ff 12,000 | 1 1 12,000
531 |0{58A 2 &{51H|0ff 12,000 | 1 1 12,000
532 |0158A 3 &{51H|0ff 12,000 | 1 1 12,000
533 |ESMA 5 5{51H|0F 12,000 1 1 12,000
534 | E5MA 4 &{51H|0tf 12,000 1 1 12,000
535 |OFEte| S CHE Bt} dleE2|y 16,000 1 1 16,000
536 |20l Btot 22| O/ [ZAM[AAE - 18,000 | 1 1 18,000
537 |13 M, Al 2101 E7t2 [O|FAHAIF 13,000 | 1 1 13,000
538 |[=0] AtEe| 2= SCHE[HIYAAIY 13,200 | 1 1 13,200
539 |EHX|7} o Or2|= FX| RHZHAAT 10,000 | 1 1 10,000
540 |HI2ZX|CHo| 20| @ HHO[HAAT 12,000 | 1 1 12,000
541 |t 7S (AHAIE X428 AAH4 - 15,000 1 1 15,000
542 |HIZo| O AtAIE ALFAAL 14500 | 1 1 14,500
543 |2 MAAZE XIA2ALFAAT 16500 | 1 1 16,500
544 |{WECE SSAHAIE XA 40IEAAE 12,000 | 1 1 12,000
545 |E sil= MEOKAHAZE XI[OIEAAT 10,800 | 1 1 10,800
546 |AtOF E0| SRA(AMAE X|[O|HAAIT 10,800 | 1 1 10,800
547 ORI OpL7F QUICEII?(AH O ZAAI 9,800 | 1 1 9,800
548 |AtEES E0{EtE Z[LIRAOFAA 12,500 | 1 1 12,500
549 |HIZ2o| O|FHE OAMAAZLIFAAL 12,000 | 1 1 12,000
550 |[RE2|lE2| H|Z =0| HTIERFAAI 9,800 | 1 1 9,800
551 [O]Hl ZIM 2| Al0] HRJO|HAAT 11,000 | 1 1 11,000
552 |=HE & Mo SHARA[oI g AAIF 10,800 1 1 10,800
553 |&X}, OIIE ZH| QO] &|{AZAAT 10,500 | 1 1 10,500
554 M| AlH2te oSt B(AlSAAIT 11,000 | 1 1 11,000
555 [#1712] X+ =52 Fotek(OI2AAI 9,800 | 1 1 9,800
556 |7t Hel= L 22 ZeljdSAAE 11,000 | 1 1 11,000
557 |H| == 7t ZOHAAIZ0I HAAI 9,800 1 1 9,800
558 |At2t HAS EfCHAAIE [Z2[AMAF 10,800 | 1 1 10,800




559 |MIAIX|2| M&tar SSICH 18 = 22,000 1 1 22,000
560 |MIAIXIE2| M&tar ST 38 = 22,000 1 1 22,000
561 |22 LUK EFE AU 13,800 | 1 1 13,800
562 |K|Z22 2= O|OF7|(AFA 3| 13,000 1 1 13,000
563 (= M2 2E AS LHS 22,000 1 1 22,000
564 |=2|o HAM: 0™ Hst me Ly 18,500 1 1 18,500
565 |22 MA: Xt st m L 22,000 | 1 1 22,000
566 |GALE HFE 1771X] 2pshm|L 16,000 1 1 16,000
567 |GALE HEE 1771X] 2pshm|L 16,000 1 1 16,000
568 |Z2| 7| A (ELC|0f CHRl 1)| &N 22,000 1 1 22,000
569 |ZAZA(EFHh z 19,900 1 1 19,900
570 |1 M SEE ESHAILZ| X 8,000 1 1 8,000
571 |LHQIBE W SEE ASHAILZ| A 8,000 1 1 8,000
572 (A2 z =z =z {32 14,000 | 1 1 14,000
573 (22X =2 A2 El= 432 14,000 1 1 14,000
574 |HX 3 O O|OF7| (&S 22,000 1 1 22,000
575 |HX Bt O] O|OF7| 2('HH &S 22,000 1 1 22,000
576 |HHX ot 0= O|OF7| 3(HH4YH 17,000 | 1 1 17,000
577 |HXBt Ol O|0F7| 4('HH S 19,000 1 1 19,000
578 |EtXot O)= O|OF7| 5(EH4SH 20,000 | 1 1 20,000
579 |dt=tof S2IMRl SHEHIEH 9,800 | 1 1 9,800
580 |1t&to| Bt5|= HXE|o| XY [Et” 9,000 1 1 9,000
581 |1tato| 8ts|= HX|of XY [Et” 9,000 1 1 9,000
582 |1t=t0| E15|= BE[of XY |Et7 9,000 | 1 1 9,000
583 |10 E15|= BE[of XY |Et7 9,000 | 1 1 9,000
584 | &1 %0 0] Jes= DpshEH 11,000 1 1 11,000
585 Lo S2MQl SHE (LT 9,800 | 1 1 9,800
586 |27t =ZtS(HEHENLS 13,000 | 1 1 13,000
587 [St2|3t2t O 0| 1pst50| S 12,000 | 1 1 12,000
588 |st2|st2te| EaEHZ 303 16,000 | 1 1 16,000
589 |YatdE =0 SO UE A 11,000 | 1 1 11,000
590 |HHX| = O|8liStE= 5& OIS 15,000 1 1 15,000
591 |SH2|XZEH ot 1. S g3 12,000 1 1 12,000
592 |SH2|ZEH o7t 2: =35 12,000 1 1 12,000
593 |Z2|et e ste Y (O] 12,000 | 1 1 12,000
594 [MAYEE =0 50 = (X 9,800 | 1 1 9,800
595 [MIAIYEE =0 &0 = (X 9,800 | 1 1 9,800
596 |X|77F HE O|MSICHA 0|7 9,800 | 1 1 9,800
597 |st2|stete| atstE 21 1(0]3 13,000 1 1 13,000
598 |ste2|stetel utets=1 2{0| 34 13,000 1 1 13,000
599 |S}2|3}2te| HiO|2 AO| Q0| A 12,000 | 1 1 12,000
600 (NSWAL =2 SICHGT § 15,000 1 1 15,000
601 |OFSAHA X4 13,800 | 1 1 13,800
602 |EEI ARt geg |22 15,000 | 1 1 15,000
603 [5CH S 0[0F7|(0|OF7| FX| 13,500 | 1 1 13,500
604 |75 0|2t 23[SHK| ZA T 10,000 | 1 1 10,000
605 [EIAHE F=0| ACHOIdH 2l 10,000 1 1 10,000
606 |ZHIO| 23= o 5 15,000 | 1 1 15,000
607 [O]EA A ZQ17} A 15,000 | 1 1 15,000
608 |[FAIRICl M7 EZ A 15,000 1 1 15,000
609 |FAEA(Cosmos)( A H of|o 15,000 | 1 1 15,000
610 |Lf SiCHE R & M= 4 13,200 | 1 1 13,200
611 [2|Z o2 2| =52k H A HO|X 13,000 | 1 1 13,000
612 [F0|= &4E, E7|= YO0 13,000 | 1 1 13,000
613 (Bt 77| H2 o ko) 13,000 1 1 13,000
614 |[SX 217H AlE| AF S 12,000 1 1 12,000




615 [LH7F &R St A2 HEAM=] 15000 | 1 1 15,000
616 |[F21F MH| HE M7 18,000 | 1 1 18,000
617 (A== HAANHA NS ZE &6 MK 12,900 1 1 12,900
618 |0]A =EHMSHIER HAUEHAMsH; 11,900 | 1 1 11,900
619 [HICIZ ZF AEMSIER [P My 11,900 | 1 1 11,900
620 [2tE 2 XHEFY Bl |[AZ MGl 9,800 [ 1 1 9,800
621 | =M Entgl M 2HE(AMSHAE S M| 9,800 | 1 1 9,800
622 |X|7E A2|l= Fat [P Meiy 12900 | 1 1 12,900
623 | BtC dot= F7t ot gErAN A, 13,000 | 1 1 13,000
624 [H0INo| A= X| 1 Mo[qAJL 22,000 | 1 1 22,000
625 [HQIMo| A=X| 2 Mo[qAJL 22,000 | 1 1 22,000
626 |X|T .60 BF |OIFME{ 20,000 | 1 1 20,000
627 | EZ I MMZ{ 18,000 | 1 1 18,000
628 [st5o| Yk FstEsS AL 33,000 | 1 1 33,000
629 [HE MAA 20{A5: 13,800 | 1 1 13,800
630 |[St=1t Higta ot Al [ 2549 9,800 | 1 1 9,800
631 [LIOAl 212 Bo| AL LfA~) 15000 | 1 1 15,000
632 |[M2 =etoleE(afetol§ZAMA e 13,000 | 1 1 13,000
633 |¢lo] HX| ZHaEd 15000 | 1 1 15,000
634 |2F2}0|A HH 11 =4d&541 18,000 | 1 1 18,000
635 |[2F2t0|A 7 10 =4d&541 17,000 | 1 1 17,000
636 |2 FE0|A M 8 4441 17,000 | 1 1 17,000
637 |2 F2t0|A M 9 =4441 18500 | 1 1 18,500
638 |2 F20|A M 12 4441 18,000 | 1 1 18,000
639 [2F20|A M 13 4421 19,000 | 1 1 19,000
640 |2 F 20| AT 1 4441 17,000 | 1 1 17,000
641 |2FEIO|ATH 2 2455 17,000 | 1 1 17,000
642 |2 FE2O|ATH 5 4441 17,000 | 1 1 17,000
643 |2F2fO| AT 7 4541 17,000 | 1 1 17,000
644 |2 FE2HO|ATT 3 4441 17,000 | 1 1 17,000
645 |2 F 20| ATHH 4 4441 17,000 | 1 1 17,000
646 |2 FE2IO|ATM 6 4441 17,000 | 1 1 17,000
647 [M1 A 5. 204 = ZCHshZd=F3§ 13,000 | 1 1 13,000
648 [M1 Z 4 ™l 20| d#HHat 13,000 [ 1 1 13,000
649 (M1 4 3. ptek 2|9 FEEZH w3 13,000 | 1 1 13,000
650 |A1 4 2. Lt 1 Jd2|20 H||[ZX[A44 12,000 1 1 12,000
651 [ 4 1. 0| & Dj2jol |[Zd=4tad 12,000 | 1 1 12,000
652 [S|AEZ| EE olglAntt 14,800 | 1 1 14,800
653 |23 M AYEGSEE) |852EH 12,000 | 1 1 12,000
654 |2 2| AE: A2HX| = OfqRE A& 11,000 | 1 1 11,000
655 |Ho 2 Q2% 517 gsjS28 14,000 | 1 1 14,000
656 |Z=00 3|LSCHEE FEZ[ASS 9,500 | 1 1 9,500
657 |OFEICHAISFELI 210 §24Al833 11,500 | 1 1 11,500
658 [O| &St LiZte| dajA~ | [AlE| 10,000 | 1 1 10,000
659 |HZ Liztel da|A 2 |Al&] 10,000 | 1 1 10,000
660 |OFREIALS] =7t =2 |AZ]| 12,000 | 1 1 12,000
661 |AHALQ} Ot % =2 |AlZ| 12,000 | 1 1 12,000
662 |2t A 2 (A 2] 12,000 ] 1 1 12,000
663 |7HAm A Xt C. |AIZ] 12,000 | 1 1 12,000
664 |MY £8=9| 2l 2 [AMS 12,000 1 1 12,000
665 |2 9| X} 2 |Al3| 12,000 | 1 1 12,000
666 |OHX|2 ME =2 |AZ]| 12,000 | 1 1 12,000
667 |&X2E HX| or (A& 13,000 1 1 13,000
668 |HIZo| 31 = |AlZ]| 13,000 | 1 1 13,000
669 |ZICtE| OFXM ZO(AlZ] 11,000 | 1 1 11,000
670 [HELHRO 2= High  [A [Als] 13,000 | 1 1 13,000




671 |4 Ef0 or2 o2| [T [AlS 12,000 1 1 12,000
672 |F1& &= S22 ozl |(m [AS 13,000 1 1 13,000
673 (A2[A0rA FHE 2 |AS 11,000 1 1 11,000
674 |d=ot Xt 2 (A& 12,000 | 1 1 12,000
675 |& 202 23 o [Al&] 13,000 | 1 1 13,000
676 |MlE2t O|OF7| = [A|Z] 12,000 | 1 1 12,000
677 |M =2 0|0f7| Z |AS 12,000 1 1 12,000
678 |O|-7|2 AN 13,000 1 1 13,000
679 |H= 0[0f7| F A3 12,000 | 1 1 12,000
680 |[MH|= 2} OfOrED ot |Al& 15,000 1 1 15,000
681 |2=0| OHHA}L L. [Al&] 13,000 | 1 1 13,000
682 |I|E{ ™ H(AE 13,000 1 1 13,000
683 | Al ! 0|of A [AlZ] 21,000 | 1 1 21,000
684 |[E2|E Mol HICH i |5 |AlS| 14000 | 1 1 14,000
685 [510]|C| 2 |AS 17,000 1 1 17,000
686 2= 2 A& 13,000 1 1 13,000
687 [=2| O}0|= & |AS 12,000 1 1 12,000
688 |2 5717 oI ET. [AlS 11,000 | 1 1 11,000
689 |EHIE AR Ct A& 15,000 1 1 15,000
690 |[E=S &= Of0|& of [Al&] 12,000 | 1 1 12,000
691 [522| S0IM = |AlZ] 17,000 | 1 1 17,000
692 |EI20tM = F A3 13,000 1 1 13,000
693 |5{EH|2| ol 23 o |AlE 16,000 1 1 16,000
694 |80L o] MAH L= 2 |AS 13,000 1 1 13,000
695 |=H O}0fo| B3 ENLE 12,000 1 1 12,000
696 |2 37t9] 57} 2 |AS 17,000 1 1 17,000
697 [SliA 282 Z |AlZ| 19,000 | 1 1 19,000
698 |BEF = |AlZ| 12,000 | 1 1 12,000
699 7| &t Z 9o O}0|= o |AlS 12,000 1 1 12,000
700 [SFet nEE! Z A& 12,000 1 1 12,000
701 [ETYEHAO| Ty 2 |AS 12,000 1 1 12,000
702 |7k 02| H F |AS 15,000 1 1 15,000
703 |ofjo|=He[o] M z |AME 15,000 1 1 15,000
704 [HEHEO| M F |AS 15,000 1 1 15,000
705 |THEAY 8 (AS 11,000 1 1 11,000
706 [OFd9| £ & MOAE 12,000 1 1 12,000
707 [OFK| AL & 1M OF [Al&] 15,000 | 1 1 15,000
708 |gUlAT MA =8 FAA(CIHAIS 20,000 1 1 20,000
709 |MAQt I E50HAJEYAIS] 11,000 1 1 11,000
710 [&2l2t 223 IFASIELAIS] 11,000 1 1 11,000
711 [REY Y ¢ EY Y Al2[ZHAE3 12,000 1 1 12,000
712 [REY Y X@EY Y A Z[ZHAE3 12,000 1 1 12,000
713 |ZEH Y JEEUY Al2|[ZEAlE3 12,000 | 1 1 12,000
714 [REY Y (EEY Y Al2[jZ2EAS3 12,000 1 1 12,000
715 |ZEH Y KEEH Y Al2|Z2EgAla3i 12,000 | 1 1 12,000
716 |ZEH Y HEEY Y AlZZHAIZF 12,000 | 1 1 12,000
717 [REY Y v(ZEY Y A2[ZFAS3 12,000 1 1 12,000
718 |ZEH Y REEH Y Al2|ZdZAIE3 12,000 | 1 1 12,000
719 |&X] 1 Z x|t 14,000 1 1 14,000
720 |&lX] 2 Z x|t 14,000 1 1 14,000
721 |Zio ApmfllA | Moy 16,800 | 1 1 16,800
722 [Atdb= of HOIREM [ =AMHs 12,000 | 1 1 12,000
723 12 1A1ZH 1Y Lot 22| [ASMES 12,000 | 1 1 12,000
724 |=CHA| M 7L off o|2i?(qohsorE4 13,000 | 1 1 13,000
725 |otO 2|7} Mzp(X| 2|3 =340t 10,000 1 1 10,000
726 |OFAlOF AMzp(X| 2|3 =& ]AIFOLE 10,000 1 1 10,000




727 [Ot=e2|7} AskX|2|' £445{0t21 10,000 1 1 10,000
IZIEERE N EEENRENE 10,000 1 1 10,000
729 |[AtABHAM 202X ZUX|ALFOIEE 17,000 | 1 1 17,000
730 [3 27t &= MA B3t |230E1 18,000 | 1 1 18,000
731 [LIE Bl 2 N 30|22 7|0LE 13,000 1 1 13,000
732 [Lf g=0 mpsEgie 4 £ [Z2[of2f 15,000 | 1 1 15,000
733 [21ME O|IMS 1: 5515|021 13,000 1 1 13,000
734 21118 O|IMS 5: 2| |15 |02 13,000 1 1 13,000
735 2118 0|1IM& 2: EE 1S |0t=21 13,000 1 1 13,000
736 |25 O|1H1S 4. HE |15 ([0t=21 13,000 1 1 13,000
737 (2118 O|IMS 3: 22015 (021 13,000 | 1 1 13,000
738 |2Q1 SHA|ZUE L7t 1(0fO] Ot 9,000 | 1 1 9,000
739 |2Q1 SHA|ZIE L7t 2(0f 0] & O 9,000 | 1 1 9,000
740 |5=0| &, MFEX| 40oHEFFH L0 14,800 1 1 14,800
741 |[BE0| E =25 A2 lZ520( 14,800 | 1 1 14,800
742 |LR0| A RS W Mol 14,000 | 1 1 14,000
743 [AF A AMBHE 1 F24 11,000 1 1 11,000
744 | S ABHE 2 FEa4 13,000 1 1 13,000
745 |20t A AMSHH 3 FHE23s 13,000 | 1 1 13,000
746 |21t B MESH 1 FHasd 11,000 | 1 1 11,000
747 |AM3F A MHE5H 2 FH2sH 11,000 | 1 1 11,000
748 |2l BHA: S H 3 FHast 11,000 | 1 1 11,000
749 (M1t BH): O|SH 1 FYFs 13,000 1 1 13,000
750 (A2t St O| 5 2 FEa4 13,000 1 1 13,000
751 [7HES T M 0] 1 I0fE+1 12,000 1 1 12,000
752 [7HES XM 0| 2 I0fE+1 12,000 1 1 12,000
753 |7HESE XiA{0| 3 o=+ 12,000 | 1 1 12,000
754 [7HESE XHA{ 0| 4 DXO=Z+ 12,000 | 1 1 12,000
755 [7HEDk I A 0| 5 A™OE: 12,000 1 1 12,000
756 [OICIO] 2lH A 2EEA AEHOIE4 16,500 | 1 1 16,500
757 |atst 2| E8(0| JhR[2EY 12,000 | 1 1 12,000
758 [LIo| 2t L HIX[LIE o|3|¥&E: 17,000 1 1 17,000
759 |E|0878 A5¥E: 13,000 1 1 13,000
760 (AL SIHOREHFIEHC|H J¥Es 11,000 | 1 1 11,000
761 |AL|SHO o] 7[MFI=n# O0FH+ 11,000 | 1 1 11,000
762 [0 2t ET Mo Y E1EI AL 14000 | 1 1 14,000
763 [BAd FX =¥ UFEFoHHYE 9,800 | 1 1 9,800
764 |30 SEE stHAE |BEYEs 10,000 | 1 1 10,000
765 [O]&=2tof Zt atstR g3t &0l 18,000 1 1 18,000
766 |MA X2|et 23k a mf|dzlojAt 14,000 [ 1 1 14,000
767 |25 A|Cf, 9I7to] Ao =Eojaf 16,800 | 1 1 16,800
768 |[MOIE 2 A dAt2S RHEI o & 12,500 | 1 1 12,500
769 [REIE =¥ HichEol4o[o=¢ 18,000 | 1 1 18,000
770 [&I2o 2 glofoj=¢ 18,000 | 1 1 18,000
771 |29l Ol0| 5 ®IE2{ 1 |Molgal) 14500 | 1 1 14,500
772 |29 Ol0| 5 fIE2{ 2 |Molgal) 14,000 | 1 1 14,000
773 |£2| oto|= Rl 3 Malae 14,000 1 1 14,000
774 |22| Ot0|= §IHZ 4 o= 14,500 1 1 14,500
775 |E2| oto|= ®IH& 5 o= 15,000 1 1 15,000
776 |22| Oto|= §IH2 6 o= 14,500 1 1 14,500
777 |[29| Ot0| = ®IE2{7 |Mol¥=l) 15500 | 1 1 15,500
778 |ZHN HEH ZZdmaK 12,000 | 1 1 12,000
779 [BA7|of Zsl miz2| of oHRejojat 18,000 | 1 1 18,000
780 [=& 3 0| ofolfrERl |22fEoHy 14,800 | 1 1 14,800
781 |740] 1 L EEE 15,800 1 1 15,800
782 |740] 2 H=E 2 15,800 1 1 15,800




783 |740] 3 H=E 2 15,800 1 1 15,800
784 |740] 4 HEE 2 15,800 1 1 15,800
785 |7H0O] 5 H=g2l7 15800 [ 1 1 15,800
786 |1 2FO| 1 HEga1 12,800 [ 1 1 12,800
787 |3 0| 2 M2l 12,800 [ 1 1 12,800
788 |20 =EHEEMFLIAEE] 14800 | 1 1 14,800
789 [LIF HE2dz2l 15,800 1 1 15,800
790 (411 H=E 2 14,800 1 1 14,800
791 [Al 2 HEGall 44,400 | 1 1 44,400
792 [Al'3 HEGall 44,400 | 1 1 44,400
793 [WE A =0|7| SHEHEZIT 15,800 | 1 1 15,800
794 (O 21 Xt o k= 11,800 1 1 11,800
795 |91Z¢ W21 11,800 [ 1 1 11,800
796 |&H 1 M2l 15800 | 1 1 15,800
797 |& 2 =R 15,800 1 1 15,800
798 [MI391F 3 EERE 13,800 1 1 13,800
799 [M3¢1F 1 HI =5 E 2 13,800 1 1 13,800
800 (MI3Q/Z 6 HI =5 E 2 13,800 1 1 13,800
801 |N3Ql& HEg2l1 13,800 | 1 1 13,800
802 |MI3QlE W21 13,800 [ 1 1 13,800
803 |MI32lF 4 M2l 13,800 [ 1 1 13,800
804 |&S W2l 14,000 | 1 1 14,000
805 |52 2 =R 14,000 1 1 14,000
806 [&Z HOol =X 1004 4L EE 16,800 | 1 1 16,800
807 |otu|& HI =5 E 2 15,800 1 1 15,800
808 [Tt Mo QI ofsh(mte|| =Yy HE1 16,000 1 1 16,000
809 [OFxfj=to| ZEISt 4 ek 15,000 | 1 1 15,000
810 |OfXj = iro| FHist 3 2N A 14,000 1 1 14,000
811 |OfXj = iro| FHtst 1 2 A 14,000 1 1 14,000
812 |OfXj = iro| FHIst 2 2 A 14,000 1 1 14,000
813 |0/ HE0| o] EE{L = 12,800 1 1 12,800
814 [MA BE7te SMuF [XFY= 13,000 1 1 13,000
815 (MOt EMAHESEEH(OI Y= 12,000 1 1 12,000
816 |22z HES 2~ et 20r 16,000 | 1 1 16,000
817 (0|27t =CH EZ2@o|={Zgetol 13,000 | 1 1 13,000
818 [O|2h7} =c} Oj2ff o X||ZAefoli 13,000 | 1 1 13,000
819 [O|2h7} 2} viola{A@|dZAetoli 13,000 | 1 1 13,000
820 |O|ef7t 2t ZetAElm|{ZA{etoli 13,000 | 1 1 13,000
821 (0|27} 2., =|upshojefiadgetoly 13,000 1 1 13,000
822 (0|27t =ChH Al=(@lai7H A getoly 13,000 | 1 1 13,000
823 (0|27} 2Cf AAXH@O[2i{dg2tol3 13,000 1 1 13,000
824 (0|27} 2Cf HEfHAO]{Zg20l3 13,000 1 1 13,000
825 |0|2i7} 2ct, 7| 100014Z42t0]3 13,000 | 1 1 13,000
826 (0|27} =L} 215 X|s(@|dgetols 13,000 | 1 1 13,000
827 (0|27t 2Ch 2F ntsho|agetol3 13,000 | 1 1 13,000
828 |O|2f7} 2Ct, 212 MEfA(ZA{etol3 13,000 | 1 1 13,000
829 (0|27t 2.t 7|2 97](0|d-g2tol3 13,000 1 1 13,000
830 [O|2i7} 2Cf Al EPAHOZg2ol3 13,000 1 1 13,000
831 (0|27} =Cf D& Ato| i getol3 13,000 1 1 13,000
832 (0|27} 2L ADHE AJE[(Z/g20]3 13,000 1 1 13,000
833 [O|2H7t =C} Bt AF @A getoly 13,000 | 1 1 13,000
834 |O|2f7} 2C}, L2 219t0]3 13,000 | 1 1 13,000
835 M1} MIHE(o|=0F M4gl Uetoli 13,000 | 1 1 13,000
836 |20 =2 At 4 9= AES |[oto[eto]ld 16,000 | 1 1 16,000
837 |'do|zt 2 QI7hOtOo|Z 40to[etol 15,000 1 1 15,000
838 |22t 2H22 12,000 1 1 12,000




839 |5~ Af2 dENOIEEH)EE[22] 14,000 [ 1 1 14,000
840 (A Cio] 202 HMo|Z22 [OtE 2 11,000 | 1 1 11,000
841 [OFO] 2&£ Ofo[ 22| 13,000 | 1 1 13,000
842 |0| ¥7|= 9X| OM 2 M|OH7| <2 12,000 | 1 1 12,000
843 |01t OS2 QA& DA F L2 12,000 [ 1 1 12,000
844 |BH 210, M&of EfE ZI#3|22 14,000 | 1 1 14,000
845 (WA 0 LIRX| Q= AgE 22 13,000 1 1 13,000
846 |uwH =T B MeH(F0||HX|22 12,000 | 1 1 12,000
847 |4, AX|1 YUst MZHHE 5|2 13,500 1 1 13,500
848 |£7|=22 O|C|0j 4% Hol[ 22| 14,000 | 1 1 14,000
849 | 2|7t =70 0/X|= O|{%l 22 19,800 | 1 1 19,800
850 |F0|1 &2 O}0|(2|8t]0|H 22 12,500 1 1 12,500
851 |[HAad2 9o HIZE= thago|<2/3 13,000 | 1 1 13,000
852 |EEtEeHEE 0 HAIH - E 9,000 1 1 9,000
853 | BAHES O HEF 1.3 F 9,000 1 1 9,000
854 |2 FFFEIRI(ES O |0 23T 9,000 | 1 1 9,000
855 [H=M(EE L0 Y& 12T 9,000 1 1 9,000
856 [EFQHAI(ES =0t HXSIHI T 9,000 | 1 1 9,000
857 |A2|AOIA JHH(ZE = O[RA LTI 9,000 | 1 1 9,000
858 |[FF M (EE 01 HASH I T 9,000 | 1 1 9,000
859 |H| 2 M| AL} O FAHEF S-S E 9,000 1 1 9,000
860 £ RE[(EE =01 HAHL| ST 9,000 | 1 1 9,000
861 |28l S E(EE -0 HA0) -3 Fl 9,000 1 1 9,000
862 |LEZ2H9 EFEEL0|E HT 9,000 1 1 9,000
863 |E2|L=2o| MA(XEELY ST 9,000 1 1 9,000
864 |ZE|H o7 |(XEE=OMMZLIS T 9,000 1 1 9,000
865 [sll2tE Ao R3(XEHOMEIS T 9,000 1 1 9,000
866 || WSO HE ) M.[ST 9,000 | 1 1 9,000
867 [80Y7to| MAYFEELE 43T 9,000 | 1 1 9,000
868 |ZHIE AZA(XF Z OMMCHLS T 9,000 | 1 1 9,000
869 (0| aot Lizto| UE|A(ZEFZ 0[S T 9,000 1 1 9,000
870 [HELIFO| 2= Hi2hE3A 4| ST 9,000 | 1 1 9,000
871 [OtAM&tat JENS| Z7|AFHE(IM.CIS T3 9,000 1 1 9,000
872 |& A0o] B(XE 00T S T3 9,000 1 1 9,000
873 |SiA 20t 2[(=F =0t 3F HS T3 9,000 | 1 1 9,000
874 || & oW (EZ =0 & ST 9,000 | 1 1 9,000
875 [ & 322 HAHHIIOJ0LM S T 9,000 | 1 1 9,000
876 |X|Z EIAIR} SIO|E(EEJEH ST 9,000 | 1 1 9,000
877 |[=2| A C7 )& %! 15,000 1 1 15,000
878 |AlZtel GAHHAEZ YJAE[ST 13,800 1 1 13,800
879 [0|=7|2] J2|A =0t A3o[FSF] 13,500 1 1 13,500
880 |O|& 7|9 O2|A 20t MIo|FS7 13,500 1 1 13,500
881 [0|=7|e| J2|A =0 MYo||SF] 13,500 | 1 1 13,500
882 [0|&7|el Oe|A 201 M3o|RS T 13,500 | 1 1 13,500
883 [0l&7|2l O2|A 2030l RS T 13,500 | 1 1 13,500
884 (A= 2t DIFEFO I (RHIT] 12,000 | 1 1 12,000
885 [HIO|X|A ME O] F& |ofLf< L 13,000 1 1 13,000
886 | E QUL 1 o|Me= 13,000 1 1 13,000
887 |ME ULt 2 ol M= 13,000 1 1 13,000
888 |ME =Rl 3 o|Me= 13,000 1 1 13,000
889 [LEEE} 1 HUNQI=Y 12,000 | 1 1 12,000
890 [Li=!Eat 2 HUNQI=Y 12,000 | 1 1 12,000
891 |Lteaat 3 HUNQI=Y 12,000 | 1 1 12,000
892 |Lie2t 4 HUNQI=Y 12,000 | 1 1 12,000
893 |Lt=efet 5 HUNS = 12,000 1 1 12,000
894 |HHE0| OUSL|ICHAZMEHLY= 12,000 1 1 12,000




895 [MAALE 1 XA 14800 1 1 14,800
896 |[MAALE 2 XAt 14800 1 1 14,800
897 |MAALE 3 ™A=t 16,800 | 1 1 16,800
898 [MAIALE 4 Sxo=f 17,800 | 1 1 17,800
899 [MAALE 5 Sxo=f 17,800 | 1 1 17,800
900 [ HW| ICHNEHAETLS A= 12,500 | 1 1 12,500
901 22| ZotHX|= ECHA Jetsf 9=t 12,000 [ 1 1 12,000
902 [EMYEAE 1. =M {2 X(=t 13,000 [ 1 1 13,000
903 [EMYEAME 6 =Ml HEX=t 14800 | 1 1 14,800
904 [EMAZAME 4 o] F2XQ=] 14800 | 1 1 14,800
905 [EMYZAE 2 =M 2 X Q=) 14800 | 1 1 14,800
906 [EMYEAME 7: 0td FIEHQ=E 14800 | 1 1 14,800
907 [EMYEAME 5. = ol {2 =t 14800 | 1 1 14,800
908 [EMYEAE 3 =M=t 13,000 [ 1 1 13,000
909 [t AZO| A|ZH =t 12,000 | 1 1 12,000
910 |L§ &0 J&A ojyshidygas| 12000 | 1 1 12,000
I |RREE M A= HEGEAdAHARF| 10,000 | 1 1 10,000
912 |79 &t Hqa2dl 14500 | 1 1 14,500
913 |42t FHE AHO] sHASHl 14,000 | 1 1 14,000
914 |0|7|X fFH™Xt¢4oxF4E 7]i2|Xq274 20,000 | 1 1 20,000
915 |[MZto| 3= QIZst 20: Ao]d=my 10,000 | 1 1 10,000
916 [442t0] 3= 2123t 10: Madamy 10,000 | 1 1 10,000
917 [MZto] 3= QI23t 19; 7jAlvd2ms 10,000 | 1 1 10,000
918 |Mzto] 3= Q23 6: A{X|H2my 10,000 | 1 1 10,000
919 [Mzto] 3= o&st 1. Z{d[ASos 10,000 | 1 1 10,000
920 [MZto] 3= Q23 16 {22 my 10,000 | 1 1 10,000
921 |MZto| 3+ Q2% 15 B9dg2my 10,000 | 1 1 10,000
922 |Mzto] 3= Q23 14 §Z4F204 10,000 | 1 1 10,000
923 |dZto] 3= Q2% 5: O0HeH7|2my 10,000 | 1 1 10,000
924 |Mzto] 3= Q23 11: AZs{Sm 10,000 | 1 1 10,000
925 [AMZto] 3= o123t 18: 4o|x2my 10,000 | 1 1 10,000
926 |MZto] A= QI23t 17: 0220y 10,000 | 1 1 10,000
927 |Mzto] A= QI&23t 2: OH3HZ|SIy 10,000 | 1 1 10,000
928 |Mzto] A= QI2st 3 2letalany 10,000 | 1 1 10,000
929 (MZto| 3= Q23 4: £ iutnlamy 10,000 | 1 1 10,000
930 [44Zto] 3= 2128 13: g AdA=my 10,000 | 1 1 10,000
931 [MzZto] 3= Q23 12; 420y 10,000 | 1 1 10,000
932 [MzZto| 3= ol&Zst g HIMRASTy 10,000 | 1 1 10,000
933 [MZto| 3= ol2st 7: ZH{o|X[€m4 10,000 | 1 1 10,000
934 |Mzto] 3£ Q23 9: XAHO|Z7|2m4 10,000 | 1 1 10,000
935 [MZto] A= QIZst 21 AAUF SO 12,000 | 1 1 12,000
936 [AMZt0] A= QIZs 22: AZ SO 12,000 | 1 1 12,000
937 [ZEO|E(EtetE B 3HSHY0|7t 9,500 1 1 9,500
938 [EEY7HCttE B $HEFY0[7t 9,500 | 1 1 9,500
939 |7H(Ttst2 B $H=2E30|A10|7t 9,500 | 1 1 9,500
940 [2Ato| OISy & (0tstz 4Ete{o] 7t 9,500 | 1 1 9,500
941 |58 SHEGSIZ B A7t 9,500 | 1 1 9,500
942 |OtHje| 7I&F(EtetzE E= | EI0[7t 9,500 | 1 1 9,500
943 |BEAMO Ot (Btst2 E{4ZF 0|7t 9,500 | 1 1 9,500
944 |ZXt HjraL7|(Btet2 E4Z& 0|7t 9,500 | 1 1 9,500
945 |S2E 2@g2 & sHA o7t 9,500 [ 1 1 9,500
946 |7do| S(Etet2 B = sHR 0|7t 9,500 | 1 1 9,500
047 |=55F & 2852 E= 157(0]7t 9,500 | 1 1 9,500
948 |27|9| & 1232 2 4240|7} 9,500 1 1 9,500
949 |55 B 1(Ust2 BE= 157(017t 9,500 | 1 1 9,500
950 |27|9| 05 3(Ttstz2 H 52 0|7} 9,500 1 1 9,500




951 |=5& & 3(EtetE E= |57(0|7t 9,500 1 1 9,500
952 =R Aj0 2ot B Ah(@tstd 2l elo] 7t 9,500 | 1 1 9,500
953 |H=M2| 0ol= (Bt Z | A A0|7}t 9,500 | 1 1 9,500
954 |HFGHZ} OpX|EF &(BHst2 | Z0[7t 9,500 | 1 1 9,500
955 |H|2E & Z&(2tst2 2|0|50|7t 9,500 | 1 1 9,500
956 |48 Zt= AZ(BtetE H|0|#0[7t 9,500 | 1 1 9,500
957 |F712] O 2(Btet2 E{240[7t 9,500 | 1 1 9,500
958 At H= AMEE(RISIZ [A17F0[7t 9,500 | 1 1 9,500
959 |#2l=2 ¥a2%l ES 30|F0|7t 9,500 | 1 1 9,500
960 |?2l=2 €% ES 10/F0|7t 9,500 | 1 1 9,500
961 |oH 7+ ZAT SFF(THEHHO| Tt 9,500 | 1 1 9,500
962 [BAHZ L B2 E/2 FET0[7t 9,500 | 1 1 9,500
963 |t&0|7} Ar0F 22l A2 |=M0]H] 11,000 | 1 1 11,000
964 |I{E &t vol 2: A E J0rF0[0H 19,000 | 1 1 19,000
965 |IHE st Vol 3: WX = |HE0|OFy 24,000 | 1 1 24,000
966 [OH T 2Kt AEHE A 9,900 | 1 1 9,900
967 |[MIAIAF Z[CHS &1 A HHaRtmolsHs 13,800 | 1 1 13,800
968 |=2|, X[CH3 A H¥si|H Zolss 13,800 | 1 1 13,800
969 |t Hoto| AL XCH{AIFolsH 13,800 | 1 1 13,800
970 |, X[CHSH A HFsi|AIZol=H 13,800 | 1 1 13,800
971 |Lf O|E2 EH] 2H[o|z=| 16,500 | 1 1 16,500
972 |O|2E2 87| ZIA[e1=Z8 14900 | 1 1 14,900
973 |O|282 87| 2 ZIA[Q1Zf 14,900 | 1 1 14,900
974 |7tHEEXHAEME S HEHAHS] 13,000 1 1 13,000
975 |=240| 22T Ui 23F XS] 9,700 | 1 1 9,700
976 [HE0t ST B (HaXE] 9,700 | 1 1 9,700
977 |[EE0| E2{F= Xt 0|¢X[0X}=] 9,700 | 1 1 9,700
978 |OtQIFFEIRIO| ST = 4 elAt3] 9,700 | 1 1 9,700
979 |MALO| EF= 7| 1H A3 9,700 | 1 1 9,700
980 [REEIEZt 28 F = 7518 AR =2] 9,700 | 1 1 9,700
981 |HEO| EFE= 778 0|2 XS] 9,700 | 1 1 9,700
982 |%t&0| =2{F £ DNA O[{0| g XS] 9,700 | 1 1 9,700
983 [2|2H0] EE{F = 4K 7| H XS] 9,700 | 1 1 9,700
984 | HO| E8FE URAHTIXE] 9,700 | 1 1 9,700
985 |LtQIHO| ST+ EAFTIXE] 9,700 | 1 1 9,700
986 |LtAZO| EF= HE (FHelAt3] 9,700 | 1 1 9,700
987 [OIE27|HHAY} ERF =SR2 9,700 | 1 1 9,700
988 |[CIREEAT} S2F= Y AXZ] 9,700 | 1 1 9,700
989 |7tRA7t E8F = =€ (FHelAt3] 9,700 | 1 1 9,700
990 |Z8g017l E8F &= Y5/ elx=] 9,700 | 1 1 9,700
991 [E£0| ST 7R MXE] 9,700 | 1 1 9,700
992 |3} A T} ST ntEN XS] 9,700 1 1 9,700
993 |F2] 220 E8{F+ & HelRtE] 9,700 | 1 1 9,700
994 [H|RLIZE C} BIX|7t S§E5IXtS] 9,700 | 1 1 9,700
995 O 20| 20|11 ZXIZF ATENX[RHZ] 14,800 | 1 1 14,800
996 |ZLCH{ Ottt SEE0[AHAZR=] 12,000 | 1 1 12,000
997 |CIO|0{E St (RS2 A XS] 11,000 | 1 1 11,000
998 (M2 A= QIAIQIS(RI210[ X211 13,000 | 1 1 13,000
999 |A|ZHE Th= MRS IHYAMAE] 11,000 | 1 1 11,000
1000 |AIZHE T 8 2. HE[AMXE] 12,500 | 1 1 12,500
1001 |22 A|Z O|OF7|(OhAHZ3%[HAtS] 11,000 | 1 1 11,000
1002 |9AtS 3= MAALEE 28 XS] 11,000 | 1 1 11,000
1003 |GAtS 3= MAARE 118542 ] 11,000 | 1 1 11,000
1004 |GAtS 3= MAARE 118 xhXHS] 11,000 | 1 1 11,000
1005 |9AtS 3= MAALEE 214 x=S] 11,000 | 1 1 11,000
1006 | AAtS 3= MAALEE 28RS ] 11,000 | 1 1 11,000




1007 [ I 2812 MAANHE0EMAFS] 11,000 [ 1 1 11,000
1008 | D AFE St MAIAFHE 4]AEX2] 11,000 | 1 1 11,000
1009 |BAS 2= MAANEE 298 HA=] 11,000 | 1 1 11,000
1010 | AIZ3t= MAAFEE 1(NSXS] 11,000 | 1 1 11,000
1011 | AFZ 3= MAAFEE ofA[A{xFS1 11,000 | 1 1 11,000
1012|FAIZ3= MAAPEE 1{"7[xF&] 11,000 [ 1 1 11,000
1013[FAIZ3= MAAPEE 1{&7[xF&] 11,000 | 1 1 11,000
1014|GAIZ 8= MAAFEE 1{A[AAF&] 11,000 [ 1 T 11,000
1015 |BAS 2= MAANRE 1{1EFA=] 11,000 | 1 1 11,000
1016 | A2 at= MAAFEE s{Ergxt&] 11,000 | 1 T 11,000
1017 |FAIZ 8= MAAFEE 2(ZX[KF&] 11,000 [ 1 1 11,000
1018 |GAtS 2= MAALEE 6186|AtS] 11,000 | 1 1 11,000
1019|FAIZ3= MAAPEE 7{S8|xF&] 11,000 | 1 1 11,000
1020 |GArS 2= MAALEY 8iAlFAS] 11,000 | 1 1 11,000
1021 |FAIZ 8= MAAFEE 1{AIxF&] 11,000 | 1 1 11,000
1022 |G AIZ 8= MAAFEE 3{etxte] 11,000 [ 1 1 11,000
1023 AIZ 8= MAAFEE 1{0|gxS] 11,000 [ 1 1 11,000
1024 |G AIZ 8= MAAFEE 2{x[FXS] 11,000 [ 1 1 11,000
1025 | AIZ 8= MAAFEE 1{AIgXS] 11,000 [ 1 1 11,000
1026 |FAIZ 3= MAAPEE 2{2QKF&] 11,000 | 1 1 11,000
1027 [ AIZ 8= MAAPEE 20Z2X[xF&] 11,000 [ 1 1 11,000
1028 AI2 3= MAAFEE 2{LkixF&] 11,000 [ 1 1 11,000
1029|GAS = MAIAFEE 30| XS] 11,000 | 1 1 11,000
1030 A2 a= MAAFEE 2fergxte] 11,000 [ 1 1 11,000
1031 | AIZ 8= MAAFEE 3(ergxte] 11,000 [ 1 1 11,000
1032[|@57to] WM HiEHAF2IA MRS 11,000 | 1 1 11,000
1033|0|EFE SF A7 2CHARCHEAIS] 13,000 | 1 1 13,000
1034|823 298 At1  [=AXS] 12,000 [ 1 1 12,000
1035|HAH 298 Aol 4 |=AXS] 12000 | 1 1 12,000
103682 298 A3 [=F4xS] 12,000 [ 1 1 12,000
103782 298 A3t 2  [=AXS] 12,000 [ 1 1 12,000
1038|HA 4 298 M3ts  [=A4xS] 12,000 [ 1 1 12,000
1039 (&1 CHAl §I7[(HAEQIJAX|AZ] 13,000 | 1 1 13,000
10403iste o= A SsHA S{stgAte] 13,000 [ 1 1 13,000
1041|201 29 AEZ (MY EH|Z7H 18,000 | 1 1 18,000
1042|201 39 AEE sMAtAZIH 18,000 | 1 1 18,000
1043|201 9 AEZ gAHTtAZIH 18,000 | 1 1 18,000
1044|201 3O AEZ JAXIEH|ZIH] 18,000 | 1 1 18,000
1045|201 3L AEZ pAXFEH|=7H 18,000 [ 1 1 18,000
1046|201 R0l AEZ 4AHFAZIAZIH 18,000 | 1 1 18,000
1047 |Tto] 0[0f7| OF OZt7H 16,000 | 1 1 16,000
10488 S Zeje? (el f|HAMa3 13,000 | 1 1 13,000
1049 (8 S Zeje? 2(Relf|FAAMa3 13,000 | 1 1 13,000
1050(8F ®1 Zefe? 3(22/2|e=Exoi 13,000 | 1 1 13,000
10518 ®1 Zefe? 422/ 2|e=xoi 13,000 | 1 1 13,000
10528 ®3 Zefer 52/ 2|edxoi 13,000 | 1 1 13,000
1053[26 1 Z=xolf 12,000 | 1 1 12,000
1054 |26 2 ZEx03 12,000 [ 1 1 12,000
1055[26 3 Z=Exo/f 12,000 | 1 1 12,000
1056 |EAl0| BE £7H 1(@HEYZEMOd 12,000 | 1 1 12,000
1057 |gAlol BE &7t @Y ZEMOE 12,000 | 1 1 12,000
1058|2HAlo] B E &7t 3 FIZEM0] 12,000 [ 1 1 12,000
1059|2HAlo] B E 274X gZEM0 12,000 | 1 1 12,000
1060[0F0|E o] A MM 1 [Sxfold 12,000 | 1 1 12,000
1061[0t0| o] A MM 3 [xioli 12,000 [ 1 1 12,000
1062[0to|Eo] A MM >  [xiold 12,000 [ 1 1 12,000




1063|0t0| =9 HMMKE 5 = @X0j3 12,000 1 1 12,000
1064 |0t0| =2 MMM 4 = @X0j3 12,000 1 1 12,000
1065 |FL = IHH| A|E oFEX0[3 12,000 | 1 1 12,000
1066 | XL T HH] A[=1 2 o Rfol3 12,000 | 1 1 12,000
1067 [FT = 70H] A|=2 1 orEAOlf 12,000 [ T 1 12,000
1068 | ZIHH| A|=2 2 otgxfol 12,000 | 1 1 12,000
1069 |22 ZIHH| A= 3 DFEXI0[: 15,000 1 1 15,000
1070 | 7FEHAE AQIAA s|ZfxHel| 14,800 | 1 1 14,800
1071 |82 Xt X9| &4l (=1 Rl 16,800 1 1 16,800
1072|520 AEC| A 2Y |[EMA O[3 18,000 1 1 18,000
1073 [SMe| AEZ| FEHS u—a SAH0[f 18,000 | 1 1 18,000
1074 |ZOFX| O AP (EA S |[Exi=L¢ 12,800 | 1 1 12,800
1075|0 0| O A LFEFELIC 12,800 | 1 1 12,800
1076 |Lt= SHEIZt 2FXHFYEAFLE 12,800 | 1 1 12,800
1077 |2, 0tk 7|=0f ChA| ZO[AZFL[¢ 12,000 | 1 1 12,000
1078 | XA S 2ot Bt X2 |HFFL 11,500 1 1 11,500
1079 | =52 {3t Bt 28 |[HZFL 11,500 1 1 11,500
1080 [X| Al S 2t HotEXRE FUZFL 11,500 1 1 11,500
1081 | E2 ¢t HAEXRE 1HEFL 11,500 | 1 1 11,500
1082 | MIA Q] Mstet MM st ADK {FL{ 22,000 | 1 1 22,000
1083|CIO|OJH 1: AlO|=H H |4 JF5L4 15,000 1 1 15,000
1084 |CIOJ0{H 2: 25837 B4 AF L4 15,000 1 1 15,000
1085|CHOJOJE 3: AZX|% H |4 AF5A1 15,000 1 1 15,000
1086 |1 281H SAH3a 16,000 1 1 16,000
1087 |5 E o2 utetS 9lCt 0| E|Gbra 13,000 1 1 13,000
1088 (4K At Of2) 2 A (=98t AGbra] 15,000 | 1 1 15,000
1089 |G ALZt 20 X|2|7F BStiorg x| 44 14,000 1 1 14,000
1090 |2 2|%}t9| 7|22 O|OF7|38|Axi K[| 25000 | 1 1 25,000
1091 |[®RE 25 HE 2CHJH (LIERX] S 10,000 | 1 1 10,000
1092 [AA X A 57 &= §EFTM 10,800 1 1 10,800
1093 [AA K| A SH7): HEH{ZAF T 10,800 1 1 10,800
1094 |AAH K| &A 42]: 7|2 HAFHEIM 10,800 1 1 10,800
1095 |AAH K| &A 317]: 2l HAFHEIM 10,800 1 1 10,800
1096 |AAH K| &A SH7]: LA AFHEIM 10,800 1 1 10,800
1097 [2A X A 5H7]: 28 §EzyTM 12,000 | 1 1 12,000
1098|2| O 2 EIE&EWH’M O|X[xto]3 17,000 | 1 1 17,000
1099 |0 HXHE I8t Ltel 28| 25000 | 1 1 25,000
1100 || HXHE 28t Lol EsH{a3g&H|| 25000 | 1 1 25,000
1101 |0 HXHE 28t Lol 28| 25000 | 1 1 25,000
1102 [100. M| L] 13,500 | 1 1 13,500
1103|5¥ 18 &S A4 A& 12,800 | 1 1 12,800
1104 |t WZ(HH[EAEHZ o 8y &H| 8,500 1 1 8,500
1105 [LH & 2t E%(’SHI HA G A 12,000 | 1 1 12,000
1106 ErOIH(A AY) CH QA 14,000 | 1 1 14,000
1107 |5 BHM & EEZEH YU I EH| 11,000 | 1 1 11,000
1108 —.—E1301|71I QIALSHE (A4 O0|EHH| 11,000 1 1 11,000
1109|1987 O (Btet2 2+ T ZEH| 14,000 | 1 1 14,000
1110 (AT T (Bt=t = EE OIF3AZEH| 14,000 1 1 14,000
11 [HEERE B DT 28| 14,000 | 1 1 14,000
1112 |OtF 2| O 7|8 = (Ttat 2 §Z & H| 14,000 | 1 1 14,000
1113[2F ZAEHE2EHES L FEH| 13,000 1 1 13,000
1114 | =2kt XA of 3 (&HH| (2 & | 10,800 | 1 1 10,800
1115|=et AHEAH o 2. oA & H| 10,800 | 1 1 10,800
1116 |2 Hs| = MEO} ZI A 18,000 | 1 1 18,000
1117 | A2 FACE A E7HAE AR 11,000 1 1 11,000
1118|5tEQ| EHY g |EH| 10,000 1 1 10,000




1119|7}0] 2| M Ed REL] 10,000 | 1 1 10,000
1120(HEZS Z | & 10,000 1 1 10,000
1121 |8 ZF2FALDY A& 8,800 | 1 1 8,800
1122 [H M gh [&H] 8800 | 1 1 8,800
112371 24} H |&HH] 8800 | 1 1 8,800
1124 |3 EEE 8800 | 1 1 8,800
1125|0}0| 7H Q| &H| 8,800 1 1 8,800
1126|22] O|Lt2| & 8A = |7 |[&H| 8,800 1 1 8,800
1127 |72leF Ho| AH O |&H| 8,800 1 1 8,800
1128|019 0| & & 8,800 1 1 8,800
1129 |=7HE = |&H| 8,800 | 1 1 8,800
1130|H7|2FS A WE 7|5 [H [ZHy] 8800 | 1 1 8,800
1131 | @& ot Al Zl & 8800 | 1 1 8,800
11320 &3t 824 0|0F7| =+ &y 8800 | 1 1 8,800
1133 | ujo|o| FA= A | EH| 8,800 1 1 8,800
1134|552 HAT o1 |&H| 8,800 1 1 8,800
1135|LH7} O 21 S| ZEfOFAICtH | [&HH] 8800 | 1 1 8,800
1136|852 XAl7|= 7t0 2t 4 | &H| 8,800 1 1 8,800
1137 | S WAL g A 8,800 | 1 1 8,800
1138|8 2E Hf [&HH] 8800 | 1 1 8,800
11390 A} S 8800 | 1 1 8,800
1140 (0] A} Of| %t EEE 8800 | 1 1 8,800
1141 |FE0t oy HY |&HH] 8,800 1 1 8,800
1142 |72 O3 4 | &H| 8,800 1 1 8,800
1143 |2 Xt= 4 | &H| 8,800 1 1 8,800
1144 [2tH2 UL} S |&H| 8,800 1 1 8,800
114538t WtAM 7HE 91 7| |4 2|&H| 12,000 1 1 12,000
1146 |8 WtA 7HYE 917]: X 2|EHH] 12,000 | 1 1 12,000
1147 |8 W0bM 70 917): A e|EHH] 12,000 | 1 1 12,000
1148 |8 WbM 7HYE 917]: (A e(EHH] 12,000 | 1 1 12,000
1149 | & Al 2 Et A& 13,000 1 1 13,000
1150 | AHEHE T HY O & ] 13,000 1 1 13,000
1151 |02 E £ 2| 12,000 1 1 12,000
1152 [0 A & ECt F5EH| 13,000 1 1 13,000
1153 | A0S FE MY EH| 13,000 | 1 1 13,000
1154 |20Fst AAY Z2{&| 13,800 1 1 13,800
1155 | X = H|0|AH 2| (ZH -FTh(j 7 B & Y| 14,000 1 1 14,000
1156|0|2tS 777t2 O|= 2= A| 13,000 1 1 13,000
1157|O|EtE 717t & ZEf A H| 13,000 1 1 13,000
1158|0|2t2 7t 5= 0| &H| 13,000 1 1 13,000
1159|582 S ARH| HAHE]E2(AH| 12,800 1 1 12,800
1160 | A EF 212] MIAIAEH[E 40| GEH| 12,800 | 1 1 12,800
1161|A12 SF(HHEAEHZAONEH]| 13,800 | 1 1 13,800
1162 | 29| AT (BHIEAEHEAZHEH| 12,800 | 1 1 12,800
1163 |EX], ZH(EH|HAEHE D (A EH]| 12,800 | 1 1 12,800
1164|224 7| 7|2 7|(FH[EAH0| Y& H| 12,000 | 1 1 12,000
1165 | E Fotet(EHIH A H ot EH| 12,800 | 1 1 12,800
1166 |52 7H2| 2Hd Ol (BHH| M 1 0 55 H| 9,500 | 1 1 9,500
1167 | AH7| 2Ho| Hoh(EH|H A FEF A EH| 11,000 | 1 1 11,000
1168 | MIBHE Q| =71 77| (B H| Ot N E | 12,000 | 1 1 12,000
1169 |S5&2 W2 UCHEBIIZ G EH]| 12,800 | 1 1 12,800
1170|2E 59| MAAEH[E 40| GEH| 12,800 | 1 1 12,800
1171 Xs 2o MAAHEH|HA0|HEH| 12,800 1 1 12,800
1172 |3t ZO| St AHEH[E A4S GEH| 12,000 | 1 1 12,000
1173|X 12 S&5t= &L CHASHR|EH| 12,000 1 1 12,000
1174 EL Q| Me| S (EHALAEH| 12,800 1 1 12,800




1175 |0t E O A 7|22 BHHC) X[ F A | 12,000 | 1 1 12,000
1176 (XS E|Z = AEEH|H{EGEH| 12,800 | 1 1 12,800
1177|278 X|&9| f&|(HH[H{d5EH| 12,800 | 1 1 12,800
1178 B O A Tt SIAFEH|FZ T A ] 12,800 [ 1 1 12,800
1179|HX| 7| 20| = RtX| (3 ZEH| 12,800 [ 1 1 12,800
1180 |OF QI+ Et QI &< O] AEEHY A H| 12,000 | 1 1 12,000
1181 | MOl A 7+ OFSCHe &O|- & H| 14,000 | 1 1 14,000
1182 |2| &7 Zrop?(&tH| A Ao & | 12,000 1 1 12,000
1183 [A0F U= FA(EH|HA VS FEH| 12,800 1 1 12,800
1184| = HS B2 o E("H[}E A H| 12,000 | 1 1 12,000
1185|& e AE2| YAEH||O|X| & H| 12,000 | 1 1 12,000
1186 | 0| LHE 5t2 RCHEZEH] 11,000 | 1 1 11,000
1187 |ZEA1A 9| A I (FH|H 4t E | 12,800 | 1 1 12,800
1188 |5l M, SZSH 2 off MZHEHH| 12,000 | 1 1 12,000
1189|Ltol A M = AN pad-1 12,000 1 1 12,000
1190 LE5H NLHE, 28 S{# & H| 12,000 1 1 12,000
1191 |HA, FEZE(FH] 2| ANEH| 8500 | 1 1 8,500
1192 |3 HEO| A (EH| AL GEH| 8,500 1 1 8,500
1193 |OFC|OFE| T&O|= H|EFZ0|EH] 8500 | 1 1 8,500
1194 | Z A7t BERJUE DHE(EH] (A& H| 8500 | 1 1 8,500
1195 |2t S B2 W7FX| (& H| |2 Y& H| 8,500 [ 1 1 8,500
1196t =til &Y OFO|(EH| HAZOEH| 8,500 | 1 1 8,500
11972, ECI0 & HE=ChEH| dgEH| 8500 | 1 1 8,500
1198 [LHE 7| 2= Al 2: E7H7tH| ==& H| 10,000 1 1 10,000
1199 [7H A 4 (HH|H A EHA| M 9)0|"J & H| 8,500 1 1 8,500
1200 [LHE 7| 2= Al 1: &2 =& H| 10,000 1 1 10,000
1201 |I2 =52 UCHEH[E A HOI A H]| 8,500 | 1 1 8,500
1202 | XS bb| S SHA (B A 2 " & ] 8,500 | 1 1 8,500
1203 |CHEFSE =S O CHEAHIE A XHX[&HH] 8,500 | 1 1 8,500
1204|HE BtLbE Al 1: LHZF Y|t B & ] 10,000 | 1 1 10,000
1205 |HE BtLh= Al 2: M 29| |2 RIEH| 10,000 1 1 10,000
1206| OfO|Of| A S ACHEH[ ot & H| 8,500 | 1 1 8,500
1207 |Lte] A A E(HH[EAEH)SEEH]| 8500 | 1 1 8,500
1208 |Lt= 11T OfbHCHEH[E 478 E & H| 8500 | 1 1 8,500
1209 [C|XHE A1 FHe|s(®FH 34 & | 8,500 1 1 8,500
1210|AHE217F A E|l& ={ZMEH]| 8,500 | 1 1 8,500
1211 | K A = &t SHYEH 15,000 | 1 1 15,000
1212 |H| QI E O|3[&HH| 12,000 | 1 1 12,000
1213 |FE AAR QFL| L (FH[OH 0| & | 10,800 | 1 1 10,800
1214|FE ALXF QFL|L| 2: H2 |O|HAFH| 10,800 1 1 10,800
1215 |52 ARAt QLIL| 3: A{ 20| & H| 10,800 | 1 1 10,800
1216 |3 E0| S8 HAA |XX|EH]| 12,800 | 1 1 12,800
1217 |OFd 5= & #1244 ME™MZI] 11,000 | 1 1 11,000
1218 [0S ECHZ OFO|(=/7HH[(XH3R. J| M 13,000 | 1 1 13,000
1219[OHELCH Oto] =2|¢t O[qrR. J M1 10,000 | 1 1 10,000
1220 |OFECHR 00| A2|A O|drR. J.[*1H 11,000 | 1 1 11,000
1221|0HS CH 00| 4F% O|OFJR. J.[ M1 11,000 | 1 1 11,000
1222 |32 HE| SME Xg™M+4 16,500 1 1 16,500
1223 |20 A X HSHM 2 (=Z&0HI0jAM%51 10,000 1 1 10,000
1224|280t Z20f 8N 5014 MAM & 12,000 1 1 12,000
1225 |84 S L o] & MAYPM= 13,000 1 1 13,000
1226 |95 oFOFC] DpStAHCEZES| [HAHIHY 11,000 | 1 1 11,000
1227826t S8E uapdetHEzi 13,000 | 1 1 13,000
1228|01 = = ™MIZHEEAEH{IFIARIIS 13,000 | 1 1 13,000
1229| 25 AGHIE L2 EHFAHAFEIS 13,000 | 1 1 13,000




1230 |B4A| A, X|X| b= AHEEHMIHS 11,000 | 1 1 11,000
1231|1009t Esl= A= 2 M-S 13,000 1 1 13,000
1232 [10CHQt Sot= & AH |[KAHEg&E =y 13,500 | 1 1 13,500
1233| 5= #E| O|OF7|(10CHet [O| F&==§ 13,000 | 1 1 13,000
1234|10CHQt Edt= O|C|o{(10l&M4 &4 12,000 | 1 1 12,000
1235| AKX O|OF7|(10CHRE S¢EIRIA = 13,000 | 1 1 13,000
1236|10CHQF S5t= 241 O|oFjElgd&E 4 13,000 1 1 13,000
1237 [10CHQ} S5t= Yote Hi0lqE{ 12,000 1 1 12,000
1238 |AH2 39| O|OF7|(10CHet 42 0|& ¢ 13,000 1 1 13,000
1239[10CHR} S5k= Eel O|OHX[FE sy 12,000 1 1 12,000
1240|2tZ 0f MEf O|OF7|(10CHY A& 44 13,000 | 1 1 13,000
1241|Lt= F& 2 St HOoHO|ME = 12,000 | 1 1 12,000
1242 |22 Al 2 rhE|ZdRA"Sy 13,000 | 1 1 13,000
1243|011 - AT o] A ol §ZAES{ 14,000 [ 1 1 14,000
1244 |8 A E 29| O]gf HufMals 12,800 | 1 1 12,800
1245 L7} AF2ESE ME3F o|oF 7t & of 12,000 1 1 12,000
1246 |&CHE 2ot Ol atst E/ER A 13,000 | 1 1 13,000
1247 (9| o] Mo|2& A [ A of 14,000 | 1 1 14,000
1248 | 522577t B 1Y (E40|XE=) 11,000 | 1 1 11,000
124934 Al MEI|(EEMN [(SYEXE, 11,000 | 1 1 11,000
1250 |44+ A S p Oj2f A gMX[=2gy 13,000 | 1 1 13,000
1251 |¥H|Q| & CHE MAE #{32(38§ 13,000 | 1 1 13,000
1252 (HAad M M| Z2HE |JMI|EO 15,000 1 1 15,000
1253 |2t & ACh L7251 13,000 1 1 13,000
1254 | =M 27| (EZ = 23 [0l F7|Ct 11,000 1 1 11,000
1255 7H7f ol & ZX[(E HA4HC|E 9,500 1 1 9,500
1256 | cF SCHA oF W 07 §E5E 10,000 | 1 1 10,000
1257 |7t 3 AHE 1 AR E 12,000 | 1 1 12,000
1258 |LH7t B3 AME 2 AR E 12,000 | 1 1 12,000
1259 |7t B3 AHE 3 Q2 &t 12,000 | 1 1 12,000
1260|Li7t 3£ AE 4 AR E 12,000 | 1 1 12,000
1261 |7t 3= A& S QU EF 12,000 | 1 1 12,000
1262|171 EF= At 6 QU EF 12,000 | 1 1 12,000
1263 |71 3= AE 7 QU EF 12,000 | 1 1 12,000
1264 |7 BFH= ALE 8 - EF 12,000 | 1 1 12,000
1265 |7t &3 AR 9 AR E 12,000 | 1 1 12,000
1266 |7t =3 AHE 10 AR E 12,000 | 1 1 12,000
1267 [LH7t == AHE 11 AR E 12,000 | 1 1 12,000
1268 |7t B3 AHE 12 A E 12,000 | 1 1 12,000
1269 |7 BF= AHE 13 AR ES 12,000 | 1 1 12,000
1270|471 EF= ALE 14 QU EF 12,000 | 1 1 12,000
1271 |W7F 3= AHE 15 AR ES 12,000 | 1 1 12,000
1272|471 B3 = ALE 16 A E 12,000 | 1 1 12,000
1273 [LH7t =31 = AtE 17 AR E 12,000 | 1 1 12,000
1274 |7t 3= ALE 18 AR E 12,000 | 1 1 12,000
1275 [LH7F == AtE 19 AR E 12,000 | 1 1 12,000
1276 |17t =3 AHE 20 AR E 12,000 | 1 1 12,000
1277[H AteEUE 24 EXHE 10,000 1 1 10,000
1278 |HIO|E{ & 1tstst7| (B A& 14,000 1 1 14,000
1279 (=22 HE |0 L7|(E HIMAE 12,000 1 1 12,000
1280 |AtE=2|2HA Jaf2(B O HE 12,000 1 1 12,000
1281|0A @M1 =37t A YUF 7| E 13,000 | 1 1 13,000
1282 |22 ERtEENR? =127 13,000 1 1 13,000
1283 | =2{ QM| 2! F=SHIHA {27 E 13,000 | 1 1 13,000
1284 [0S, HIEH(E HAaE 2 Z0|E 10,000 | 1 1 10,000
1285 [ O &l0| #*X|& 0|18 8 15,000 1 1 15,000




1286|22|= S QI0| AtCHEHZD 10,000 1 1 10,000
1287|952 AEF YFU0|H 3CHH 13,000 1 1 13,000
1288 |MAE Of RHIE (B HA 0|4 12,000 1 1 12,000
1289 |5 ool 2 (B A HE JOFH 10,000 | 1 1 10,000
1290 | F 2 ohE A 23R 13,000 [ 1 1 13,000
1291 | 2A 9| 7|& EEl 20,000 | 1 1 20,000
1292 |U7F &30 e 2 S E|Z 3 17,000 1 1 17,000
1293 | 2MYAO HE oY |[gX 14,000 | 1 1 14,000
1294|275 0]=20= O H 25 Z T 15,000 1 1 15,000
1295 | 2|02l H2|7F A (EH LY 12,000 1 1 12,000
1296 | S 3HALS| A7 (S [MF 14,000 | 1 1 14,000
1297 |70|=2 AP EM §AEH{8H 12,500 | 1 1 12,500
1298 | A7t ®EF R} 0| A 12,000 | 1 1 12,000
1299|278 CtLbE AlZE ks 13,800 | 1 1 13,800
1300|583 Z=2H| A 12,500 1 1 12,500
1301 |22|7F LX| 2UOLOF & E{AF 11,000 1 1 11,000
1302|227t LX| Zojof gt (Y 11,000 | 1 1 11,000
1303 [22|7F LX| 2otof gt |23 11,000 1 1 11,000
1304|227t 2X| ZO}OF gt F{0| 11,000 | 1 1 11,000
1305 |92|7F K| Hotof g F|SH 11,000 | 1 1 11,000
1306|217t K| EojoF &t HFY 11,000 | 1 1 11,000
1307|227t 9X| Hotof & =|0[X 11,000 | 1 1 11,000
1308|22| 7t QX| 20O gt F{Z A 11,000 1 1 11,000
1309|217t LX| Zojof gt F{AHA 11,000 | 1 1 11,000
1310|217+ LX| Zojof gt (A 11,000 | 1 1 11,000
1311|227t LX| HOtofF ot S{HA 11,000 1 1 11,000
1312|2217t 2X| Zojof gt F{HE{L 11,000 | 1 1 11,000
1313|2217t 9X| Hojof g =\ %[0 11,000 | 1 1 11,000
13142217t LX| Zotof gt F{AFJT 11,000 | 1 1 11,000
1315 |92|7F 9X| 2ojof & F|4AHL 11,000 | 1 1 11,000
1316 |Ef2to| oAl = 0| ut& 11,000 1 1 11,000
1317[& CH, §j0 A0 X|ECleJETD 13,000 1 1 13,000
131821 SX| St 4K MAAFIMGED 13,000 1 1 13,000
1319(d CHE At A 2R 34 MEODy 12,000 1 1 12,000
1320|E2t0F & sl E st o3& Aoy 13,800 | 1 1 13,800
1321|538t n SO{MO0| A X HUANED 12,000 | 1 1 12,000
1322|538t a S O{MO0| A X HUAMNED 12,000 | 1 1 12,000
1323 |BHEtOpOAI A O 74 =0 40| AR 13,000 | 1 1 13,000
1324 | AT 2| A= 9f EFSSHX|O| Y H AL 13,000 1 1 13,000
1325 |23 2tHAE SHHE ZSXEE|HA 13,000 1 1 13,000
1326|Lt= OtAlE OFF L CHEIXIFEWE 19,800 1 1 19,800
1327 |7} S2&E O|OF7|(RIF4XIR/EES 17,000 1 1 17,000
1328|X| = Hto 2 HFste  [SHH|FEE] 12,000 | 1 1 12,000
132951 &f 2 Oi 7| (3Eh Qz|E=24 14,000 | 1 1 14,000
1330|2120 0| M X7t Zopgetoj=E3 10,000 | 1 1 10,000
1331 |0 A M=, M2 SM0|[0|YFEES 13,800 1 1 13,800
1332 |= 4402 0| Xtet= L2 [HHEES 11,000 1 1 11,000
1333[Lt= =50 a2t JEE|FEE] 12,000 1 1 12,000
1334 |8 7H7|pOFS 0] Xi2ts UXHAEES 11,000 1 1 11,000
1335|F&ot M S(0HS0| AHgAHFEE] 10,000 | 1 1 10,000
1336 |A0FS] A I MX[ZZ24 10,000 | 1 1 10,000
1337 [ 25, X|aste] AEM | HHFEE] 9,800 | 1 1 9,800
1338|28 =& EE7|(Ot30] [HAFEE4 11,000 | 1 1 11,000
1339|2|Lt2t7 100 2| OFS|Hi4FE24 10,000 | 1 1 10,000
1340 (X747t 1002| OtZ0|2HHo|FE3 12,000 1 1 12,000
1341|852 4 70| 30| HA0|gHE| 12,500 | 1 1 12,500




13428212 2o = A& DLEY 11,000 1 1 11,000
1343 |Fstel= =2[(128h PaulZ=2% 35000 | 1 1 35,000
1344 | & 0™ O|H|A O|M[ztm} 15500 | 1 1 15,500
1345 |22 Sf7F 22 13 AAMEtn] 14,500 | 1 1 14,500
1346|[= A o2 10070 StufA3&ml 16,000 [ 1 1 16,000
1347]|5¢0 Hl2 »= EMEIZZAStW) 16,000 | 1 1 16,000
1348|320 Ht2 2= 2= f2dAstml 17,000 1 1 17,000
1349|% 77X =210 | gk 21,000 1 1 21,000
1350 |H3I2|AE ZEsk=1 13,000 1 1 13,000
1351|2A st Q20| HAE dueyst={ 13,800 1 1 13,800
1352 |3 # &3 UP A7d7tEH|gt=et={ 14,500 1 1 14,500
1353 [4KHA R AL 2 [HLE AP 13,000 | 1 1 13,000
1354 | K| & OizHE ot 50 HRIA 16,000 1 1 16,000
1355 |[X| & CH=tE 2ot §H0 HRHA 16,000 1 1 16,000
1356 |X| & CH=tE 2ot §H 0 HRHA 19,800 1 1 19,800
1357 | X[A3He| ntsh(E st =2t Joh 24,000 | 1 1 24,000
1358 [OFHH K| 2| HX|(CHit H 45T 11,000 | 1 1 11,000
1359 | MO E9| HoM = F& {HHH 12,000 | 1 1 12,000
1360|522t 1 xH 16,500 | 1 1 16,500
1361|520t2] 2 E¥s 16,500 | 1 1 16,500
1362|520tz 3 E¥s 16,500 | 1 1 16,500
1363 |HAHEZ 2t FHIE o f2HE 15,800 | 1 1 15,800
1364 |[HAEHS 2ot o1H oM (7S 15,800 1 1 15,800
1365 |[HAHEHS Ao ‘FXIE of J & 15,800 1 1 15,800
1366 |=% < £O|Ct 1 EpS 16,500 1 1 16,500
1367|2= % ®O|C} 2 EpS 16,500 1 1 16,500
1368|358 W A8 7] B1: AT 11,500 | 1 1 11,500
1369|358t u A4 7| B1: AATF 11,500 | 1 1 11,500
1370|538 u A4 7] B2 AT 11,500 | 1 1 11,500
1371|580 A497] B2 AT 11,500 | 1 1 11,500
1372 (0| C[0f =2 0]Of7| 3 16,000 1 1 16,000
1373 [MEStL LY=o 4 H0|H 15,000 1 1 15,000
1374|555t =Tt S B(A13Z0 19,800 1 1 19,800
1375|=0 {3 PHE S 2= (347 14,800 | 1 1 14,800
1376 |Lt=2t Hi2{e| My 7| =4 22,000 | 1 1 22,000
1377|Lt0lof FepEe| 718 [3]7 14,800 | 1 1 14,800
1378 |2H=2tA 2| Ot 5| 7| s 14,800 | 1 1 14,800
1379 |0fAAH 20l = & 5|71 14,800 | 1 1 14,800
1380| ¥ = ZE = O}O| 2= 16,000 1 1 16,000
1381 |8 7o ktatoh EfQF 2= 16,000 1 1 16,000
1382 |0t & 218 2|7 12,000 | 1 1 12,000
1383 | ZOtX| Ot HEA  |ZH 14,800 1 1 14,800
1384|828 = & 1(FSM [0 8,000 | 1 1 8,000
1385 [HE S= ME 24 AEHOIME = 8,000 | 1 1 8,000
13868 E == M 3: HAFH|0tME = 9,000 1 1 9,000
1387 |8 = A 4SE9| (oA &= 9,000 | 1 1 9,000
1388|8E 2= ML 5:HE Si0tME2 11,000 1 1 11,000
1389|848 == M g(BES0tAM&=1 10,000 | 1 1 10,000
1390|848 == M 7(8E30tM&=1 12,000 | 1 1 12,000
1391 |82 == M 8(E=9| [OtMEE] 9,000 | 1 1 9,000
13|88 5= ME 9HEE Z{otM&=1 10,000 | 1 1 10,000
1393’4 30| A= A2 CF OLE(E|M=EHET 16,000 | 1 1 16,000
1394 |70 E 0] At (2[7{H]) =248 22,000 1 1 22,000
1395 | { Al ZHof F=tel7| AH3 14,000 | 1 1 14,000
1396|7|0| 3t O|OF7| (0] A[ZtQE 2l B T 15,000 1 1 15,000
1397 |LHYE S 2 Wo|c(ZAEH 8,000 | 1 1 8,000




1398|2CH H £ olgs 17,000 1 1 17,000
1399|0/C|0f 2|HA| =& |HEAZH 14,000 | 1 1 14,000
1400|0]=20f 7t HO{X|= 1 ZHSH 14,000 1 1 14,000
1401 |9 X 9| SHEAMUNEEHE TS 13,000 1 1 13,000
1402 | A5 =2 ?let Y 02 eHEHS 14,000 | 1 1 14,000
1403 [2H5S Yot W & QtLH|ALIE 14,000 | 1 1 14,000
1404| 2 HE2 9ot L & QUH|ARS 14,000 1 1 14,000
1405 [Al= O|OFZ|(=0] A|ZtO| |R&lE 15,000 | 1 1 15,000
1406 | =2 EQ| g&¢Ql 0|0}7| 34T 18,000 1 1 18,000
1407 |2 E9| g8 0 0|o}7| 3=4F 18,000 1 1 18,000
1408 |FEE Q| FEQl O|of7| 1FF5H 18,000 | 1 1 18,000
1409 |2HE0{ 7l ZIA dE{s24 16,000 | 1 1 16,000
1410|222l &9 AHE o| [&HH] 11,000 | 1 1 11,000
1411|7+40| ZF |&H| 14,000 | 1 1 14,000
1412 [t L| 2| 10 A|CH EELE 12,000 1 1 12,000
1413 |2t 2 o™ L] 13,000 1 1 13,000
1414 |LO{HEl 7| EZ &OotA |& |&H] 12,000 | 1 1 12,000
1415|=2 7| & 4 & 11,000 1 1 11,000
1416|0FX7F SO X| O H & |OF & H| 12,000 | 1 1 12,000
1417 |25 0| 2 |[&H| 11,000 | 1 1 11,000
1418|2AH 2 [A&H| 11,000 | 1 1 11,000
1419|23]|0|0to] o{ E Q |&H| 12,000 | 1 1 12,000
1420|H|E 7|= 7t |&H]| 10,000 1 1 10,000
1421 | AT 2l Hf [&HH]| 11,000 | 1 1 11,000
1422 L= SX| U ZICH S |&H| 10,000 1 1 10,000
1423 |Lt= K| =CH 2 |8y 11,000 | 1 1 11,000
1424 |H|E 7|=, O||HO|l= & |7t |&H| 10,000 | 1 1 10,000
1425 [LHH[ E &= Ot K| o & 12,000 | 1 1 12,000
1426 |\ |7t =72t Mz |& &Y 12,000 | 1 1 12,000
1427 |HHEHO| Lefjotet |8 11,000 | 1 1 11,000
1428 |20tst HA S 2 |&H| 12,000 1 1 12,000
1429|CHE SCHE QUCH o |&H| 13,000 1 1 13,000
1430 (AN Bt®O|= HE2RH |2 |&H| 13,000 1 1 13,000
1431|0|ES A2 oig Al & 10,000 | 1 1 10,000
1432 (273 2| o E Bl & 13,000 | 1 1 13,000
1433|0|& 8l HoA g | &H| 13,000 | 1 1 13,000
1434 |9FEFO| A|ZEHSACH ESEEE] 9,000 | 1 1 9,000
1435|001 Hef| E RISt (Bt [0 |&H] 12,000 | 1 1 12,000
1436|X & 0|2 2 |&H| 13,000 1 1 13,000
1437|2EZE CO|0{ 2| B |&H| 11,000 1 1 11,000
1438 | & A2 AL 1= U |EH| 13,000 1 1 13,000
1439 [AEte] & 2 |Ey| 12,000 1 1 12,000
1440 (512 22 S ZF |8 13,000 | 1 1 13,000
1441 O] E2 T = |[&EH| 11,000 | 1 1 11,000
1442 | Af2pRl = 2F 3t | A& 11,000 | 1 1 11,000
144384 7| =g At SR 12,000 | 1 1 12,000
1444 |Ltb™ 2 | & 11,000 1 1 11,000
1445 [Z 0| H T |&H| 11,000 1 1 11,000
1446 | esHd Xt2] 1 & 9,500 | 1 1 9,500
1447 | eet xt2] 2 NS 11,000 | 1 1 11,000
1448|1945, B & O [EH] 13,000 | 1 1 13,000
1449|0222 O}0|= T || 11,000 1 1 11,000
1450 [AHE 2] H A & 9,500 | 1 1 9,500
1451 |7t SACHD 4215 3 [of |&H| 11,000 | 1 1 11,000
1452 | 22} L} 2 |HH| 12,000 1 1 12,000
1453 [TtEH 0}0] S |&H| 11,000 1 1 11,000




1454|1 OfE2| A= O| [&H] 13,000 | 1 1 13,000
1455|2 = A0| E0IRE X |& |&H| 9,500 | 1 1 9,500
1456 |OF&]2 Al0O| OFL|Of O [&HH] 12,000 | 1 1 12,000
1457 | K|z OfC| 7}? AL 12,000 | 1 1 12,000
1458 |- LE7F AFEE W7F AL S |[EH] 11,000 | 1 1 11,000
1459 |23 B3Oy ot | & 12,000 | 1 1 12,000
1460 |2 E |9 mf3t M| & 12,000 1 1 12,000
1461 |OFTHO| 72| 4 |[EH| 13,800 1 1 13,800
1462 |2t 2IE 2= 72 4 |[EH| 10,000 1 1 10,000
1463 |0 = W EQI 4 |&y| 12,000 1 1 12,000
1464 |4 & ETEEEE] 12,000 | 1 1 12,000
1465 |QIC|AHS ERJULCE EREL 13,000 | 1 1 13,000
1466 |2 MlA| | & 12,000 | 1 1 12,000
1467 | 211 MO 7| EREL] 12,000 | 1 1 12,000
1468 |8 7| gle &Y g | & 12,000 1 1 12,000
1469 | = 3|9t & H|[E&y| 10,000 1 1 10,000
1470[82| 1 7|8 HE Al |8 |&H| 9,500 1 1 9,500
1471 |7t =5 T |&H| 12,000 | 1 1 12,000
1472 | =45t X5 2 |[&Ey| 12,000 | 1 1 12,000
1473 | % E SCHo| ot# 2 |[&H| 12,000 | 1 1 12,000
1474 | 4=2]0f 2 |[&H| 12,000 | 1 1 12,000
1475 [HF2HO| AFXIE HY [&HH] 10,000 | 1 1 10,000
1476 | HO|E 7= 7| & g | &H| 12,000 1 1 12,000
1477 [SHL XS 4 & 12,000 1 1 12,000
1478 [Atat7F 2 QB g | & 8,500 | 1 1 8,500
1479 |02 E (HHAE) & |&H| 10,000 1 1 10,000
1480 GOl A, ECt Z |8y 11,000 | 1 1 11,000
1481|E2(7]9| ot + |8 12,000 | 1 1 12,000
1482 |HICHRF O AL ot |&H] 13,000 | 1 1 13,000
1483|0{ = & Al H |HH| 12,000 | 1 1 12,000
1484 |2 &0|9| &= = | &H| 12,000 1 1 12,000
1485 |WE=S 2| 82! O [EH] 12,000 | 1 1 12,000
1486 |2/ E0|= + | & 12,000 | 1 1 12,000
1487 [H 1t 10|29t 22 x| |EHy| 11,000 1 1 11,000
1488 |H E AEEI0|3 T |&H| 13,000 | 1 1 13,000
1489 |H| QI E (BHYEh O| [&H] 12,000 | 1 1 12,000
1490 |22t Sat = |8 12,000 | 1 1 12,000
1491|122 M= 4 [EH| 12,000 | 1 1 12,000
1492 | E2}0| o | & 15,800 1 1 15,800
1493 [HAESI2A Q g [EH| 12,000 | 1 1 12,000
1494 (223}, Lio| AOHE (8 |0 |&HH| 13,800 1 1 13,800
1495 78 (BEE) g [&HH| 12,000 | 1 1 12,000
1496 | A ALY 2to[E Z |&H| 12,000 | 1 1 12,000
1497 | A= (HHSEh g [&H| 13,800 | 1 1 13,800
1498 | B S Ed) |[d |&H] 12,000 | 1 1 12,000
1499|227t 4 EE O C} |&HH] 13,000 | 1 1 13,000
1500 |20 ACh= A (BHEEhH |Z | &H| 13,000 1 1 13,000
1501 |t = 2ot T MES| |2 |&H| 12,000 1 1 12,000
1502 [0t 2| MIA| Z | &H| 12,000 | 1 1 12,000
1503 [2te| 7tk g [ 12,000 | 1 1 12,000
1504 |0t2|QF=0| OpX|9f M |A |&H]| 12,000 | 1 1 12,000
1505 |LiLt (BHAED 0| [&HH] 12,000 | 1 1 12,000
1506 |LtQI (BH¥ED o |8 14,000 | 1 1 14,000
1507 | A (BHSE) B |&H| 12,000 1 1 12,000
1508|229 & (BHAE) 0| |&H| 13,000 1 1 13,000
1509 | AL & 2 (HHYED g [&H| 14,000 | 1 1 14,000




1510| 22| =0 MElX| 7 |&H| 13,000 1 1 13,000
1511|CHO| B (BHE) T | &H| 13,000 1 1 13,000
1512 |H B E B | & H| 13,000 1 1 13,000
1513 |¥IX E H|O|AH 2| - |&H| 13,000 | 1 1 13,000
1514| 2 2H] L} [&HH] 13,000 [ 1 1 13,000
1515 | & AHC} O |AHA 10,500 | 1 1 10,500
1516 |St2 L] H2{EA 2 |AHA 9,800 1 1 9,800
1517 |SHO{ & A AA 10,000 1 1 10,000
1518 L& &9 H 2 |AHA 10,500 1 1 10,500
1519 | Al R W fA 2 |AHA 8,500 1 1 8,500
1520|20|CH & 3 |AHA 11,000 | 1 1 11,000
1521 |0t = CHESHA| QUQUCE (B [ARA 11,000 | 1 1 11,000
1522 | g 52| @ oot A o [AHA 10,800 | 1 1 10,800
1523[2 2 Y AFO|ZR{AOA [gF [AHA 11,000 | 1 1 11,000
1524 |&=0] (B E) O| |AHA| 8,800 1 1 8,800
1525 | FALEI S O|OF7| 3 |AHA 9,800 1 1 9,800
1526 | O XtXI5 O|OF7| 3 A 9,800 1 1 9,800
1527 |Lt= 2H L7t HO|AA 10,800 1 1 10,800
1528 |HHHE s E5 Z A 9,000 | 1 1 9,000
1529 |BHA|| (BHAE) g2 A 11,500 | 1 1 11,500
1530 |Lt= E4Ct 4 A 8500 | 1 1 8,500
1531|204 & HIOIHIAIY  [OF [ARA 8,000 | 1 1 8,000
1532 [HHEHO| Ab= ACHE| & | |AHA| 10,500 1 1 10,500
1533 |2& A AN 10,800 1 1 10,800
1534 |B A} 2rgh g2 |AHA 9,000 1 1 9,000
1535|=0] F2topal O|FE |8 [AHA 9,000 | 1 1 9,000
1536|336 &, &AM O |AHA 9,000 | 1 1 9,000
1537 | B, AlZ 370km ol [AHA 10,800 | 1 1 10,800
1538|2819 52 AU Z |AHA 9,000 | 1 1 9,000
1539|2FH|H g A 11,000 | 1 1 11,000
1540|M= g AHA 11,000 1 1 11,000
1541|214 A2 %z [AH 11,000 | 1 1 11,000
1542 |EHl FS}Er 2 |AHA 10,500 1 1 10,500
1543 |M0], =L FAS A |AHA 9,800 1 1 9,800
1544 |80|=0| 2Cf 2 [AHAl 10,500 1 1 10,500
1545 |G| O] OF & |AHAl 10,800 | 1 1 10,800
1546 |5 W2t 4 A 11,000 | 1 1 11,000
1547 | =HHE g2 A 9,500 | 1 1 9,500
1548 |Lt= OF& HfCt g AHA 9,500 1 1 9,500
1549 | H X HEO|QF ZLIZ|XE |E. |AHA 8,000 1 1 8,000
1550 |27 A A 8,800 1 1 8,800
1551 |'20| &= AlZt gh | ARA| 12,000 | 1 1 12,000
1552 (Y E{ A Ch2ol Eot Otz [2] |AHA 9,000 | 1 1 9,000
1553 | HA CH2ol gt ota| [2] [AHA 10,500 | 1 1 10,500
1554 | H4A CH2ol gt otg| [2] [AHA 9,000 | 1 1 9,000
1555 [AtS el AEo] AFZE 0] |AHA| 8,500 | 1 1 8,500
1556|292 7= &4 o |AHA| 9,800 1 1 9,800
1557 [F& ALCHE| O] |AHA 9,800 1 1 9,800
1558 [&Ct2| £ = [AAl 10,500 1 1 10,500
1559 |HIEE 20 = 77t OfL] |2} |AHA 11,500 1 1 11,500
1560 (122 OO] or=0f (Hh |4l |AHA| 10,800 | 1 1 10,800
1561 | AHE, AHS o [AHA 10,000 | 1 1 10,000
1562 |H= A5 A OfL| BF & [5F [ALA 10,800 | 1 1 10,800
1563 22 = Al HIH 4 |AHA 8,500 1 1 8,500
1564|874 3F A [ARA 10,800 1 1 10,800
1565 |SHE20| A0l ™ O|XtE (O] |AHA| 11,000 1 1 11,000




1566|442 87|02 F At = |AHA 8,500 1 1 8,500
1567 |Lt= OFH X|o| TIX = [AA 9,500 1 1 9,500
1568 |AFEF AFO|Of &F0] ZO| |= [AHA 10,500 | 1 1 10,500
1569 |Et 4= 1985 s |AHA 10,000 | 1 1 10,000
1570 |==2f|HtF| Of2f Af & |AHA 11,000 | 1 1 11,000
1571|AEH0| I3MC} A (A 9,000 | 1 1 9,000
1572|538 AIE 2 |AA 9,500 1 1 9,500
1573|2 2= A [AHA 12,000 1 1 12,000
1574| 8 =7|E o |AHA 10,000 1 1 10,000
1575|F 25t A2 520 9 |4 |AHA 11,000 | 1 1 11,000
1576|2E00| Z2}0|[| O] ot [AHA| 10,000 1 1 10,000
1577/ 8d=5 AMde 74 |[d (A4 11,000 | 1 1 11,000
1578 |71 @ & o |AHA 10,500 | 1 1 10,500
1579 |2, H|E} X [AA 11,000 | 1 1 11,000
1580 (77|, L7} 7t'™ OF =27 |0] |AtA| 12,000 | 1 1 12,000
1581 |X=0] LH2q TOAA 10,000 1 1 10,000
1582|0|3 : HIMSAQL O/ |1 |AHA 9,000 1 1 9,000
1583 | M2 El A2 El o [AHA| 12,500 | 1 1 12,500
1584 |77|, L7} 7tH ot Q7?2 (O] [ALA| 12,000 | 1 1 12,000
1585|7 = 4 |AHA 10,500 | 1 1 10,500
1586|892 &= A Z |AHA 9,000 | 1 1 9,000
1587 Ml 782 A|ZH = |AHAl 11,000 | 1 1 11,000
1588 |4~ HO}, LIE HLH F 4 |AHA 11,000 1 1 11,000
1589|292l o |AHA| 12,000 1 1 12,000
1590 [HFCH & =52 7|A X |AHA 12,000 1 1 12,000
1591 |H Bt B2 = AT A [AHA 11,000 1 1 11,000
1592 |MME S ATt g AHA 11,000 | 1 1 11,000
1593 | Q| g AHA 10,000 | 1 1 10,000
1594 |2 E 2 (A 11,000 | 1 1 11,000
1595 |AtEHOf| A I Lis= B [ARA 11,000 | 1 1 11,000
1596 [OHX[ 2} S| X| 50| A = |AHAl 11,000 | 1 1 11,000
1597 |02 = SO{RQX| OA |2 X |AHA 11,000 1 1 11,000
1598 |0FIE 2|0} : L[ HEEF [O] |AHA 10,000 1 1 10,000
1599 |FE He|7t=t = A 12,000 | 1 1 12,000
1600 | K| 7 B0 Heb L7k (A [AHA 12,000 | 1 1 12,000
1601 |HA O & ot [AHA 11,000 | 1 1 11,000
1602 |2, At2t = |AHA 12,000 | 1 1 12,000
1603 |EtAEE 2119 2 A 12,000 | 1 1 12,000
1604 | 22| = [AHA 12,000 | 1 1 12,000
1605 | A 20| &|™ LOo{LtE} g A 11,000 1 1 11,000
1606 |9l &t A A 11,000 1 1 11,000
1607 (St OHOfl A 2 A 11,000 1 1 11,000
1608| 2 20| L§ O |AHA 12,000 | 1 1 12,000
1609 | E& B [AA 11,000 | 1 1 11,000
1610|222l S DHLiCt O |AHA 11,000 | 1 1 11,000
1611 |5tCHO| 2A | |AHA 11,000 | 1 1 11,000
1612 |2t A2 E 2o} 2 A 12,000 1 1 12,000
1613 |HFZ2 FH[SY o [AHAl 12,000 | 1 1 12,000
1614 | X270 & L F o] |AHA 11,000 1 1 11,000
1615|A2Z2[1 g |HE 12,000 | 1 1 12,000
1616|2512 A4 E| |[HIE 6,000 | 1 1 6,000
1617 |00 Al 107HX| Attol ® [ [H|E 9,500 | 1 1 9,500
1618|8|2Uo| M 78HX| 2 [HEZ| 12,000 | 1 1 12,000
1619 [EA 7o ¢el Xt [HIE 6,500 1 1 6,500
1620 | ™ Z 2| 0}0| HOHE 15,000 1 1 15,000
1621|225 M 2 |HE 13,000 1 1 13,000




1622 |LF2| AHOJ A I |HE 12,000 1 1 12,000
1623 |U Qldol A3 x| |HE 11,000 1 1 11,000
1624|255 OiAOHE 12 & |E |HIE 11,000 | 1 1 11,000
1625 |t AT} 2 [HZ] 11,000 [ 1 1 11,000
1626 L= HEfRl 2 7HCH st [H[Z] 10,000 | 1 1 10,000
1627 (7| OtO| 2lo|= ol [HIEZ] 12,000 | 1 1 12,000
1628 | =M =0| SELCH ¥ [HIE 12,000 1 1 12,000
1629 | F o 17t Z |HE 12,000 1 1 12,000
1630 (& 52| 7tE A Y E. |HE 13,000 1 1 13,000
1631|5F 702 & ¥E &AL} AF [HIZ] 12,000 | 1 1 12,000
1632 | A AL Q| O] & Ot [HIE 9,000 | 1 1 9,000
1633 |0t X|EF7F Ea{Zich (2 [H[E| 12,000 | 1 1 12,000
1634 |8/0r2 A HE ofZ2|Z |= [H[E| 12,000 | 1 1 12,000
1635 | XA A Z [HE] 11,000 [ 1 1 11,000
1636 |01 At 22l U= o] [HIE 11,000 1 1 11,000
1637 |2£0F = <o} 4 [HIE 9,000 1 1 9,000
1638 |HEIAE &2 4 |HE 11,000 1 1 11,000
1639|%El=2 HEESH HE |2 |HE 12,000 1 1 12,000
1640|(=2|N 28 g [HE 10,000 1 1 10,000
1641|207 Z2HE ol [HIEZ] 12,000 | 1 1 12,000
1642 (It2t 1] o |H&| 12,000 | 1 1 12,000
1643 |0 A1 X 2 [H&] 11,000 | 1 1 11,000
1644 |21, OL0| 7K ¥ [HIE 11,000 1 1 11,000
1645 | X8 F Z2|7| =211 | |HIE 13,000 1 1 13,000
1646|1842 QICH 2 |HE 8,500 | 1 1 8,500
1647 |HEIE 2| Ot= Z [HIE 12,000 | 1 1 12,000
1648 | Z7t0HH S| O & o (& 11,000 | 1 1 11,000
1649|IHHUE 2y ol [HIEZ] 10,000 | 1 1 10,000
1650 |OFRH o] & A [HZ]| 10,000 | 1 1 10,000
1651 |7tE Q| %! % |H|&] 11,000 | 1 1 11,000
1652 |Ef &2| OF= 2 |HE 13,000 1 1 13,000
1653 (2L HE- o [HE 13,000 1 1 13,000
1654 |2t EA| CEA| SOH2C} g [HIE 11,000 1 1 11,000
1655[X|F 9| 7 E |HE 12,000 1 1 12,000
1656 | xHO| =M 4 |HE 12,000 | 1 1 12,000
1657 |m2to| 7| A o |HE 13,000 1 1 13,000
1658 | K|+ O}O| X |HE 12,000 1 1 12,000
1659 | H 2| PHAFZ20f| A{, OtF ol |HE 12,000 1 1 12,000
1660 |Lt=, KC} o |H|&| 13,000 ]| 1 1 13,000
1661 |2l = MAIZt E |HE 15,000 1 1 15,000
1662 [Al 21 X g |HE 16,000 1 1 16,000
1663 |410] &2 F o 2 |HE 15,000 1 1 15,000
1664 |Re: 22| X|Z AHZE7E (AL [O]2H 9,800 | 1 1 9,800
1665 |EEH A AE AH | [O]2f 9,000 | 1 1 9,000
1666|222 &240|Y e 9,800 | 1 1 9,800
1667 [= 2 0F HXIAA H| [O]2H 9,500 | 1 1 9,500
1668 | =0 A ot 2S o [Ofzf 9,500 1 1 9,500
1669 (=25 H=FM o O]z 10,800 1 1 10,800
1670|344 M A = |0/} 9,800 1 1 9,800
1671|182 8S EX| Ol [ [O]2y 9,500 | 1 1 9,500
1672 | 8HE e 9,500 | 1 1 9,500
1673 |20 =AM H| [O]2H 9,500 | 1 1 9,500
1674|17M| ol [Ojef[ 12,000 | 1 1 12,000
1675 |2 2HX} REE] 9,500 | 1 1 9,500
1676 | T2 5 Mot A e 10,000 1 1 10,000
1677|5252 XM IX| o |O]2j 10,000 1 1 10,000




1678|40|2t 22 AE o |O] 2y 10,000 1 1 10,000
1679 (L] 1 & O] H| |Of2f 8800 [ 1 1 8,800
1680 |71'd Xt =EE 8,800 [ 1 1 8,800
1681 |12 &t Inil e 9,500 [ 1 1 9,500
1682|282 A4, JC} Il GIE] 9,500 [ 1 1 9,500
1683 |+ E ot= X H 2 |0]2f 9,500 1 1 9,500
1684 |22 2] 7|3 A [Ofef 10,000 1 1 10,000
1685 | A= &ALt ELEE 9,800 1 1 9,800
1686 |OH L| B 9,500 [ 1 1 9,500
1687 |5tE0| A =O0| LYZICHH [ [O]2y 9,500 | 1 1 9,500
1688 | £l 7+BtE| X}0|7| ™ 332 |E |0O]2f 9,500 [ 1 1 9,500
1689 |LtE =&{F A [ojg4f 11,000 | 1 1 11,000
1690 |7 HE 2 0] 2K 9,800 | 1 1 9,800
1691 |EZ9 A G. |ojg§| 10,000 | 1 1 10,000
1692 [HICHO| A| 2 HX| 2 |0]2f 9,500 1 1 9,500
1693|282 Ad stuof 7t |[& |0|2f 9,500 | 1 1 9,500
1694 |+ Lt HOo{ RICH NIHLEE 9,500 | 1 1 9,500
1695(2041 E7|X| &QIAFA |A |O/2f 13,000 1 1 13,000
1696 |OHEICH & 10} o [ojzf| 11,000 | 1 1 11,000
1697 [E 0|20 =ZFAFA El [OJ2f| 10,000 | 1 1 10,000
1698 [ A 0| A HO| < [ojgf| 16,000 | 1 1 16,000
1699 |27 X|0f ot A |ojgf| 13,000 | 1 1 13,000
1700 || Lt CHE A AHA A |0]2f 13,000 1 1 13,000
1701 |2£ SIE o} (Of2f 13,000 1 1 13,000
1702 |A|2|OtO)| A 2 A F 78 [Of24 13,000 1 1 13,000
1703 |Lt& std2 BICH gl 11,000 1 1 11,000
1704 |0t0| & E{ =2 L|Ct e |ojgf| 11,000 | 1 1 11,000
1705 |8lAH| MM EHo| OpX|9F & (O] 12,000 | 1 1 12,000
1706|222 H, &Lt o |ojzf| 12,000 | 1 1 12,000
1707 |01 M Ct CHEH Ab |ojef| 12,000 | 1 1 12,000
1708 [X|LIO{A A EEE 14,000 1 1 14,000
1709 | FEA T2 -2l ELEE 11,000 1 1 11,000
1710[ZHES FEAA N 11,000 1 1 11,000
1711 |=H oY 2 o=y 11,000 1 1 11,000
1712 | FEAMEEL 2f 2 L 11,000 | 1 1 11,000
1713 | X[ LA AHY 2 EEE 14,000 1 1 14,000
1714|HEE Ql= 23 = [Ol2H 10,000 1 1 10,000
1715| XL A A 3 EEE 14,000 | 1 1 14,000
1716 (0|42t M 87| & Z |0]ef 12,000 1 1 12,000
1717|124 & CEO SLEE 12,000 | 1 1 12,000
1718INE° 12 Hl& =2 & =) 12,000 1 1 12,000
1719|QFLt2t=0FLt 2t 1 SHAUAEY 14,000 1 1 14,000
1720 [QtLt2t==0tLt2} 2 ShAAEH 14,000 | 1 1 14,000
1721|QtLt2t==0fLt2t 3 shelAch 14000 | 1 1 14,000
1722 |3t 10| A F==3}7| HMastuwy 17,000 | 1 1 17,000
1723|2E A MO A28 stnl 16,000 1 1 16,000
1724 [SHE0f 88 32 AL} ME[21AM| 17,000 1 1 17,000
1725|CI3 3 A ES21M| 18,000 1 1 18,000
1726(0| & =3t2 X Z0|0f 2 |X|F21Al 15,800 1 1 15,800
1727|0| & =32 X Z0[0F 3 |X|H21A 15,800 1 1 15,800
1728|0|H =32 X Z0|oF  [X|F21Al] 15800 | 1 1 15,800
1729|100HE 2ot M7 2{&729 15000 | 1 1 15,000
1730|EBS Y410| 22 (EBS S SEBS K 17,000 | 1 1 17,000
1731 [HH2H0| EC HotorZctiZAleBS B 17,000 | 1 1 17,000
1732 |CIXO|H o] H2 8, MZ30[&47ILHf 16,500 1 1 16,500
1733|038 =7t O|& SefAl |47t 16,000 1 1 16,000




1734|252 9ot M3t {81g7t2H] 15,000 | 1 1 15,000
1735|225 E T LS 2AL 7+t 19,000 1 1 19,000
1736 |HZ 2| HO| A= 2 7kQ¢ 15,000 | 1 1 15,000
1737(0|EE XjO|H &E M Zoj 14,000 1 1 14,000
1738|A0] oF = Py 14,000 1 1 14,000
1739 |HEX| 20 ME2 HY skt 13500 [ 1 1 13,500
1740| 2= L= OfO| = (239 7 & 12,800 1 1 12,800
1741|5=E0| | E[H| 5220 ; 7he 12,000 1 1 12,000
1742 [ K| 7eF ESME ST 432+ 13,000 1 1 13,000
1743 |28 X 24 14500 | 1 1 14,500
1744 |20 2810 HE 40| Q! az2f¢ 12,000 | 1 1 12,000
1745|0F o] (M HE= T2 o244 11,000 | 1 1 11,000
1746|¥S 20| AOLE WML S TE|] 11,200 [ 1 1 11,200
1747|2107 EXSIX| 2=C =1 17,000 1 1 17,000
1748 |EI27tE 3 E2 =41 39,000 1 1 39,000
1749 |HHH-E M AL AFAH mi] 23,000 1 1 23,000
1750 |2 HH S M A AL Q1 2H mi=c 23,000 1 1 23,000
1751|552 3% g 15,000 1 1 15,000
1752 | 2tsf| 202 74X| k2 43tF WS4 15000 | 1 1 15,000
1753|229 EA2|E F&s2 wmsf 15000 | 1 1 15,000
1754 |2 (Gone) 1 2o 14800 | 1 1 14,800
1755 [F10] £=3F HAoA LIS S 18,000 | 1 1 18,000
1756 | & 'E ZHY A} O]OF7|(Of |/ =2 12,000 1 1 12,000
1757 | &K Q-2 G200 A S47[0] e 15,800 1 1 15,800
1758|2 € & B E =7t L Of ey 15,800 1 1 15,800
1759|Q| 2 AI=ZF =¢ 24y 16,800 1 1 16,800
1760 |10CHO| Al #St= E%t0]0 2t 13500 | 1 1 13,500
1761|10CHO| Al Hdt= AMS(12Y=E4 13,800 | 1 1 13,800
1762]0] 5 A QX Ot 1(10C 22 13,800 | 1 1 13,800
1763|H&0| U E oM (Setqet&2e 12,000 | 1 1 12,000
1764 |3t 2 2 Ef =2 0] 3 22} 17,000 | 1 1 17,000
1765 |AFASHA| B 2| CHBE 7453 719 16,000 | 1 1 16,000
1766 |2l @& Z0| L& ZH 17,000 1 1 17,000
1767 |H| 2 & X| StLE7HZ H O] g Z5d 11,000 | 1 1 11,000
1768 | S =S (AFES| O 2) Z5 13,000 | 1 1 13,000
1769 [BTSQt Msts|7| A 15,800 | 1 1 15,800
1770|Lt= E8REFH L, X|FH= a4 15,500 1 1 15,500
1771 [BHK| 2= 7| a4 15,800 1 1 15,800
1772 | X A= o] 282 a4 16,500 1 1 16,500
1773 | 0| =: 29| && 43 25,000 | 1 1 25,000
1774 |2 X| 2t 2 |0t Bkt 2 16,800 1 1 16,800
1775|HIC]: 22| & AN JEX[| 23,000 | 1 1 23,000
1776|538t de 20t =34 16,500 | 1 1 16,500
1777 |22 Ef EH2|7} QK Q! B3y 13500 | 1 1 13,500
1778 |t M S #3712 2 =3t 13,000 | 1 1 13,000
1779|0|PDo| Y& = Bl ME [O|NEE 13,000 1 1 13,000
1780 (0t=2 off OFE7F2(LEe] YOMMLEE: 14,000 1 1 14,000
1781|5 B X107 oC4=FHLEE: 13,500 | 1 1 13,500
1782 | AE®|Lz|07} 22|LH=tgLE24 13,000 | 1 1 13,000
1783 |H 0 OtA| D Q2[stekLIgZ LR 13,500 1 1 13,500
1784 |5 & A0 &L CHLHOIZLHEY 13,000 | 1 1 13,000
1785 [ 2t0| Bf2 10CHE SIsH | EEILLR 13,000 1 1 13,000
1786|2220, 2SXSAO|gFRLEHE 12,800 1 1 12,800
1787 |U S EEtEHA LR 13,000 1 1 13,000
1788 |= Mot HO|F (402t Z[4AFLIFEE 14,000 | 1 1 14,000
1789 |= Hot Ho|H 2 LR 14,000 1 1 14,000




1790 |Z 2 CHap7tol| Al 2CHO1Y I =Esi 15000 | 1 1 15,000
1791 | A =& Hit= HOA(R40{E21 11,000 | 1 1 11,000
1792 | Mol A 2+ el Z4(Wj2 £ el4 - 15,000 | 1 1 15,000
1793|0|& 22 AHe| £ 7[0|EL¥+ 15000 | 1 1 15,000
1794|204 FICt=s A 0{Etm 44y 12,000 | 1 1 12,000
17958 2 QFLM(EF=S MOHE (AMe|HB{f 15,500 1 1 15,500
1796 |Lt= S EO|CHHMetn J™-CHHY 16,000 1 1 16,000
1797|0|C|0f, H = LOIOFHEFHA s 12,000 | 1 1 12,000
1798|LH O|E2 FEH B =2 13,000 1 1 13,000
1799 |A EFRILH, Xl =X IHHL-EE 13,000 1 1 13,000
1800 | OtFH Z i MsL7| & j0|x{ =0k 35000 | 1 1 35,000
1801 [0t AFE QI I MM | ZHME 15,000 | 1 1 15,000
1802 |Lt= 20| 20| E0)| fyEeCicy 14,000 | 1 1 14,000
1803 |M&te| 2= =O| A2 RIS CHCHE 14,000 1 1 14,000
1804 |4 X1 A0 EMALO|HLCIE 13,000 1 1 13,000
1805 |2t x{Alo| O|2fE mh= A4FHCHE| 14,500 | 1 1 14,500
1806 | A X H’d0|2| x| E s £ 3|0| HCtE 14,000 1 1 14,000
1807 [QI 2 X| 50| AZX Almo|AmCIE 14,000 | 1 1 14,000
1808 | A H X2 X|E LH7F BHOIHCIE| 14,000 | 1 1 14,000
1809|7|CHRIOf, O] S +=QYEHCIE| 14,500 | 1 1 14,500
1810|2HIX A|Cjo| 747} =lqetgCt2| 15,000 | 1 1 15,000
1811|2830, 0| O =AD|CHE| 14,500 | 1 1 14,500
1812|0{Xt= 2™ ©F &f? O|ECHE 14,000 1 1 14,000
1813 | Fofist A5 (CHE HaE (ZAMekE| 11,000 | 1 1 11,000
1814 |9 H0t0|(R2| &7t J 24U X|CHE 13,500 1 1 13,500
1815 | A4 B E ME0| = A2 |EHRCHE 11,000 1 1 11,000
1816|8AQ HAFKZE=010)) (HCE | 12,000 | 1 1 12,000
1817|142 A= &7t J8S0[CHa| 12,000 | 1 1 12,000
1818|30H & xldcral| 12,000 | 1 1 12,000
1819 |9 st=7¢ O[L|C}AH 16,000 | 1 1 16,000
1820|252 el e, 14 43sH=eIcki 15000 1 1 15,000
1821|352 &2 S8CHAC 15000 | 1 1 15,000
1822 (22| AL A EATHEC JEQlCtet 18,000 1 1 18,000
1823 |19MI(EHH| HAE 23t 470|EHH| | 12,000 | 1 1 12,000
1824 | Q| Ojjof2|(THH| H A Y K| EHH| 11,000 | 1 1 11,000
1825 |Lto|l MZCH 2t 7| (8| Z 4] 11,000 | 1 1 11,000
1826| SEMAM HERDF O| {EHH 12,000 | 1 1 12,000
1827 | X +E X7\ 7Ha 2tHgM HEHH] 12,000 | 1 1 12,000
1828| & 20| #CtECH £2 43 0| EH] 12,000 | 1 1 12,000
1829 [0, & ofj 86 CHEHH| A A | A S EHH| 12,000 1 1 12,000
18301930 &B-d FX| 7 (EtH[H{BI-G tH| 12,000 | 1 1 12,000
1831 | HE EAHR OB 14,000 1 1 14,000
1832|3 EUE At AN E 14,500 | 1 1 14,500
1833 |I0| & AIHE Heliste {2y E 14,800 | 1 1 14,800
1834 |0 F|o| Q2iIX| sx|=24 16,000 | 1 1 16,000
1835 |X|&= Mo| HE, X2 XX GO 7t 29,000 1 1 29,000
1836|108, HEZXIE XISEZL (XGEH7H 21,000 | 1 1 21,000
1837 |217HX 2H =0t =5 AljZ3H24 15,000 1 1 15,000
1838|Lt2| MBTIZt ==ttt OHAANGHE 15,800 | 1 1 15,800
1839 |3HX}0] = 2 & 0| H|ElTIO|Z M= 14,800 1 1 14,800
1840 |4&] CH7t %5 2tojoF ot Et4QIm & | 14,000 | 1 1 14,000
1841 |H|AH #1t A7+ ME{R0|E= 13,000 1 1 13,000
1842|357t #l¥Xl= HAE 4248H=| 17,000 | 1 1 17,000
1843 |Qldof of H2 LIE Qsll|s{/CA4 16,500 | 1 1 16,500
1844|053t ZO{MOo| LH{F{7|2j=Mi 14,000 | 1 1 14,000
1845|0|7|& 21 7|1 4ot 14,000 | 1 1 14,000




1846|27|2Q o|CjM=t =] 15000 [ 1 1 15,000
1847|810k 12f O|Z R (= EZ|[4OFEE 12,000 1 1 12,000
18482 QIOAM LY S Jz[Ch|=DO[=EY 16,000 | 1 1 16,000
1849 | Ml &S HFE CIXIQI HEIXHZET 23000 | 1 1 23,000
1850 | WA M AEERE=E 29244 EHT 12000 | 1 1 12,000
1851|578 HAMZISI=F 25| =H4 15000 | 1 1 15,000
1852 |OFE L2 &0 M= =H 16,000 1 1 16,000
1853[ 2, O SA7F oM |AHEYE 13,000 [ 1 1 13,000
1854|148, 7|27t O{EHOK? |XASY 13,000 1 1 13,000
1855|0(% o{2|3 1(0[C|ofet JHGSH 13,000 | 1 1 13,000
1856|0(% O{2|3 2(0[C[ofet JHGSH 13,000 | 1 1 13,000
1857|7|Ct2| 7|0l = L 0| HEEx&Y 13,000 | 1 1 13,000
1858 |AE2 J2[HM B2 101015 &4 13,000 | 1 1 13,000
1859|182, O HO| qIjMK? |[AYsY 13,000 | 1 1 13,000
1860 |22|E S 30 HKIREIS S5 7,000 | 1 1 7,000
1861 |=tet Wt &= HOIRICH |E4S0H 14000 | 1 1 14,000
1862 |2~ 0| C|0] A|CHOf| &1 A 7|SOt 15,000 1 1 15,000
1863 |2 = 2tH| 2t NFT, £10| 450t 15000 | 1 1 15,000
1864 |2/2f S42 £0| £A¢ole{s0tf 15000 | 1 1 15,000
1865|= 0 = oFX} 1. 5LF o FOtAE¥{ 13,800 | 1 1 13,800
1866|= 0 = oFX} 2: 6LF o HotAE¥{ 13,800 | 1 1 13,800
1867 | 2O| EHM (IR 5) [ME[5QH 19,500 | 1 1 19,500
186831 {1} AAHE AMEe| 12,800 | 1 1 12,800
1869 |CH72 0|2 22 X (0| HE & 16,800 1 1 16,800
1870|082 E2 AKX [0|0|E4| 25000 | 1 1 25,000
1871|2tE, EA(CIAte J8SHCIXf 15800 | 1 1 15,800
1872 |2t HO| XY 27| 15,000 | 1 1 15,000
1873 |2tEst Atot= QUCHvivaM 2 EEQlY 11,000 | 1 1 11,000
1874 |4 QF L7t ™ SHE ogAf2fEQly 13,000 | 1 1 13,000
1875 |0t E 4=t S5t 1 SFE{cold 13,000 | 1 1 13,000
1876|4012 of 2ol oF S El HEEQIY 13,000 1 1 13,000
1877|HE ZO0tsiA O3 ZOf [HFH|ERIF 13,000 1 1 13,000
1878 | MAEHE 2ot 7HE = [EHEQ 14,000 1 1 14,000
1879 |0t ™ o= SCHY |Z25EQ4 15,000 1 1 15,000
1880 |t 2 7|0 E2|X| &OH [HLEEQlE 12,000 | 1 1 12,000
1881 |XHHO| AtHO 2 QU7 lqxfelely 14,000 | 1 1 14,000
1882227t =Xl &35t 111010]2t0] 17,000 | 1 1 17,000
1883 |Ul =& EHEIY Had §orgatel| 10,000 | 1 1 10,000
1884|2=2| &4 7| A2t 10,000 1 1 10,000
1885 AL O] BIR @2t HAE |2t2|2t 10,000 1 1 10,000
1886 (Al Y MY Had & 42t 9,800 1 1 9,800
1887 [ T & (2 E = HH= JSomE & 14,800 | 1 1 14,800
1888|7182 E2& 2 tishj&Alg|=¢ 15800 | 1 1 15,800
1889 [£50| LIE T a71X| §ulL2l&1 12,000 1 1 12,000
1890 || Zo| A At ofo|F4L2[E¢ 16,500 | 1 1 16,500
1891 |2 7|3 A Xp@p2]iof2|oHitE o2l 14,000 | 1 1 14,000
1892 (2|2 CHO{ A O A|OFA| 15,000 1 1 15,000
1893 (48, O HIZ =01 =50 12,500 1 1 12,500
1894 |HAHE 23t OIC|Of 2|42 14,000 1 1 14,000
1895 [ Mo 2 AlAtSH= oAt 14000 | 1 1 14,000
1896 [HIO| A HoH2 THLICHAEMAEIOY 14,000 1 1 14,000
1897|10CH, =0|E E|O|StEh( ot 13,500 | 1 1 13,500
1898 |1 ZHE A Fo|EA, JefAFTolt 15000 | 1 1 15,000
1899 |84 HEHE ot Al ZZo| (AZXlojE3 16,000 | 1 1 16,000
1900|527t &|0{7t= F0|0 2 [Z A0 15,000 1 1 15,000
1901|782 A& oA 16,000 1 1 16,000




1902 |3 CHoll 7t1 HOFELICIMEMZH 16,500 1 1 16,500
1903 |2 2 & IT9| YA10=|EX|HC]] 18,000 | 1 1 18,000
1904 | =7L 2 MSLC|Z2|moly 13,000 | 1 1 13,000
1905 | A E fot 7| = #st o|¢et7|molt 15,000 | 1 1 15,000
1906 |2 =5 H SeiA Z>molf 15000 [ 1 1 15,000
1907|5012 oy 7wzt glojL|{=af¢ 12,000 | 1 1 12,000
1908 |H| 2T A E B. A|2 2 16,000 1 1 16,000
1909 |42 {2 14500 | 1 1 14,500
1910[SME 40{St= AIEE ot 2 14,000 1 1 14,000
1911 |4|7F OpX|2te 2 71 L40|X|2 2 14,000 1 1 14,000
1912|2& 2, MAOAM O] AFO|X|2 2 14,000 | 1 1 14,000
1913 |& Heals Aotue 2=g=+=2] 16,000 | 1 1 16,000
19144 FE|&EH Ol O|AHIZ XS4 14,500 1 1 14,500
1915|328 L| 7, letFgo] A7LEERX[ZE0l§ 14,800 | 1 1 14,800
1916 |E 2l= A &0l O =203 12,000 | 1 1 12,000
1917|1984(0I CIEH{ A A M) |[ZX|Z03 11,500 1 1 11,500
1918|A04Y AFEsSH 14,000 | 1 1 14,000
1919|EH =3t 13,000 1 1 13,000
1920 |77t0t¢ 28 olgl2st] 14,000 | 1 1 14,000
1921|OFF A= ofL|2t Zet jAGE3] 14,000 | 1 1 14,000
1922 |LIE OtE el HEata shshygEs] 14000 | 1 1 14,000
1923 |2 oM SEAZCHZ(37Ig=s] 13,000 | 1 1 13,000
1924[01= FE XM (Y &9 44 g=s] 15,000 1 1 15,000
192500 2= 22| X234 14,500 1 1 14,500
1926 | EStA= H2 EX| FalxiE3st1 15,000 1 1 15,000
1927 |0OtCt 2t A 2925 14,000 1 1 14,000
1928|0|H0| @& THLIXD sHio[E54 10,000 | 1 1 10,000
1929|=2| O|si 24 As{2sh 14,000 | 1 1 14,000
1930 | & AbXH Mgast 14000 | 1 1 14,000
1931|2f0|C| M= E st ast 14,500 | 1 1 14,500
1932|49| OtELHS0| 28 =(&/=s4 10,000 1 1 10,000
1933 |82 At Z StChESH A= 10,000 1 1 10,000
193442 HELL M ESFHO| =31 10,000 1 1 10,000
1935 |YEHEUD EI8t X Y2 12,500 1 1 12,500
1936 |4 &2o| =% FI§82sH 13,500 | 1 1 13,500
1937 |t 3 1 olg[2st) 14500 | 1 1 14,500
1938 |otXl A 2 olg[2st) 14500 | 1 1 14,500
1939|H Q| OFX|SF MH ojE23st) 15800 | 1 1 15,800
1940 (&2 717t &l= =M &8 S0ICH 15,000 1 1 15,000
1941 |0 H| &=7t =M0|C| 18,000 1 1 18,000
1942 | X2 HojA 2ot &= [F50jc{ 14,800 | 1 1 14,800
1943 |7|&stn A7[sE 50| |IM{OJCl{ 17,800 | 1 1 17,800
1944 7|4t A7[s =5to] 3™ {OIC¢ 17,800 | 1 1 17,800
1945 |97t |30 ALk {ES420jeiy 13,000 | 1 1 13,000
1946 |l SstL= HE0 CHESIZ40/24¢ 13,000 | 1 1 13,000
1947 [LX] Z2 A7 =2 [¥AO|2H 13,000 | 1 1 13,000
1948 (M 42| ZE == O|0F7| |HE 0|2y 19,000 1 1 19,000
1949|3134 =AOoi0 14,800 | 1 1 14,800
1950 |EFA A0p7F SAECE Ay MBS 13,000 1 1 13,000
1951 [ 2 X|2F, O] Xo| A|lZgHolnElS 16,000 1 1 16,000
1952 |7 @9l OIge 2 Males 13,000 | 1 1 13,000
1953|240 5|27t & BEgel2y 13,000 | 1 1 13,000
1954 Lo A & St= 2= $E QRIS 22000 | 1 1 22,000
1955 |F st 2EAt FRHHICHE 16,000 | 1 1 16,000
1956 | At 2 S0 SLbA §5CHHICH 12,000 | 1 1 12,000
1957 |FX| A BE A QHRHIE 15,000 1 1 15,000




1958 | &= ogt2 o{g&LIctglogstE4 15000 [ 1 1 15,000
1959 [2f O|C|O{ 7} 2 X L77k2(H| EHE L 14,000 1 1 14,000
1960 | HO| 7] ol gt 17,000 | 1 1 17,000
1961|249 H 32| BHEI[0[gEL | 13,000 | 1 1 13,000
1962|9155 ot 127X 2F O ™5t 16,000 | 1 1 16,000
1963 |2t 3} J2| 1 kdSHaFX[Er=l 15,000 [ 1 1 15,000
1964 |HEFHA M 22 7|3 ZAH[7E 18,800 1 1 18,800
1965 |t O DX =2 Lf7F Zl2rdH =2 14,000 | 1 1 14,000
1966 | A XFOFK} 2= atstof] MU0 HE+1 13,800 1 1 13,800
1967 |CIA HZ| HE = 4851 13,800 1 1 13,800
1968 |22 I 21 AI71E DI H = 7] 18,000 | 1 1 18,000
1969|==2| O|of7| 1: 1 {EVEL2l| 30,000 | 1 1 30,000
1970|22| O|of7| 2: BL}X| {etHE2|| 25000 [ 1 1 25,000
1971|1125 (E3} A= 25) |[2AHEZ|| 22,000 [ 1 1 22,000
1972 | S QIAKESHE O|C|M) [ZYES 14,000 1 1 14,000
1973|124AM O 2X| E = HAH =2l 16,500 1 1 16,500
1974|222 EL S ELE Al02|S 2! 13,800 1 1 13,800
1975|)1H 1(ELF 32L[E AldOt2|S2) 13,800 1 1 13,800
1976|1H 2(ELt A2LE Ald0t2[E2) 13,800 | 1 1 13,800
1977 |3 AE L I ZLZ Alqore[E2=2) 13,800 | 1 1 13,800
19781440 A|ZHSH= M2 M{ZF 2wt 14,000 | 1 1 14,000
1979|220l M =l A= HZARSEH 14000 | 1 1 14,000
1980 || AT T & otHEA1 16,800 1 1 16,800
1981|1t&t0] AR OIX|= OFF FAOfEAT 14,000 | 1 1 14,000
1982 |7| A=A & 714581 13,800 1 1 13,800
1983|7189 1™ =AM A =43  13,800 1 1 13,800
1984|d= =AM X721 14800 | 1 1 14,800
1985|2t4, W O|E2 RREIYET/=EY 13500 | 1 1 13,500
1986 |2t S =5t 1 A== 15000 | 1 1 15,000
1987 |2t 5=t 2 AA2=f 16,000 | 1 1 16,000
1988 |2t 5=t 3 AHF= 16,000 1 1 16,000
1989 | EA A HIMNAGESH QEILSE 15,500 1 1 15,500
1990 | =24 ARIMAES N IYEIL S E 15,500 1 1 15,500
1991 | B FZ4A| HoIMNAESH QEILSE 15,500 1 1 15,500
1992 (H2l= su’l I3 =6 |HEi=d4 15000 | 1 1 15,000
1993 |H& 153t OjAHZ /45231 12000 | 1 1 12,000
1994 |£ 5= 2: L|7} &=C}, L2 =2 FH|E] 16,000 | 1 1 16,000
1995|S £ 1 L= of LJAH=HH|E] 16,000 | 1 1 16,000
1996 |2 ¢iot WE(ESFEHM 31 ASHIE1 12,000 1 1 12,000
1997 (X Yot EH 8FAIH|OF 16,000 1 1 16,000
1998 |Ml&te| 2= X|AIO| LY A48 El | 16,500 1 1 16,500
1999 |10 X| MIAIAF 365(AlAH A S | 17,500 | 1 1 17,500
2000|0tS ol HIY S Ssfat  [=folgiely 13,000 | 1 1 13,000
2001 |Ml &t S 22 FEo =2 |8ralaiel 13,000 1 1 13,000
2002 | 12| E} —-—EHI 2|2t eSO & I El 12,000 1 1 12,000
2003 [MAl =4 stjol Eof S|ZlAIA4 15000 | 1 1 15,000
2004 |AEHE QCH AHAAIT 13,000 1 1 13,000
2005 7IE3P1 OLELCHR BAY|MAAF 16,000 1 1 16,000
2006 [P ELCEH OF HELCH 1(AA42[O[AFAIF 17,800 | 1 1 17,800
2007 [HELCH OF MACE 2(AHAI4ZIO[AIAIR 17,800 1 1 17,800
2008 (2 2L? AEAAT 14,500 | 1 1 14,500
2009 |4 O A A8 AX[AFAT 13,000 | 1 1 13,000
2010| 22 == = O|of7|, XA AAF 15,000 | 1 1 15,000
2011(0le] Si= E?%% SHZLAFAT 13,000 | 1 1 13,000
2012 |7t gal XAAMAT 16,000 1 1 16,000
2013 | = XHTHE ARRIVAL)(Dear 2 HAHAI1 23,000 | 1 1 23,000




2014|He| 2= WHs BHO FMGAIE 16,000 1 1 16,000
2015 [7| &t MA =2 = QALO| 17,500 | 1 1 17,500
2016 [PHHZ, /20| EH MYAZE 14,800 | 1 1 14,800
2017|550l 2t 2017} SHHE 15,000 | 1 1 15,000
2018|Fot&EE 1 ZFoaAH 11,000 | 1 1 11,000
2019|F3t&E3 2 FHAMAL 11,000 | 1 1 11,000
2020(2+= 0| ZdL|Ct XA a 16,800 1 1 16,800
2021 |2X MMS| SREE=14aA444 30000 | 1 1 30,000
2022 |UATO}F CHE 0= MEO A X[ AT 12,000 1 1 12,000
2023 |2 2| 0r=2%0]= X0OtCt 424 M H 12,000 1 1 12,000
2024 |02 0j A O] 22 A= {4 -SME 12,000 | 1 1 12,000
2025|102 OrS 20| £ 12{0[sl|AHE] 10,000 | 1 1 10,000
2026 (18 st A7) AZ, olz|ZZAzHE 16,800 | 1 1 16,800
2027 [ M HAEHA T2 {40440 | 15000 [ 1 1 15,000
2028 | DAFE| o MER(HFYEL 12t 7] 12,000 | 1 1 12,000
2029|E2BENM M BAEFRWAMR] 12,000 | 1 1 12,000
2030 [AF=7| 20 EHHIYEE 6) [ AMR] 11,000 | 1 1 11,000
2031 [ w20 2E AEEO| |Rt2fMsiy 12,800 | 1 1 12,800
2032 |52 2= HIOIAIARI RISy 14,000 | 1 1 14,000
2033 |8 =2 O|¥A Smst=7|HEH{ Ml 17,000 | 1 1 17,000
2034|HF 432 2= MUWOA| 2 ZIMsii 14,000 1 1 14,000
2035 |5 &fatste| R X[Of MBSy 22,000 1 1 22,000
2036 |[= HEJETAEHEH /Mol 12,500 | 1 1 12,500
2037 | 4B A 2) el Msll 13,800 1 1 13,800
2038 | = ESt7| 1 8EX|M38li 16,500 1 1 16,500
2039 (& Al = gt 2 |EtX|Msl 14,500 | 1 1 14,500
2040 [EHEF 2 BYO[(MSE & FlAANAMSH 13,000 | 1 1 13,000
2041 (3t o2 EL= T Flojgddi 19800 | 1 1 19,800
2042 L= Y 2 Xto| o|E|== dMB4 19,000 | 1 1 19,000
2043 (|2 20| 24t OE[M[Z=] 20,000 | 1 1 20,000
2044 (7| Xp7F £| 0 A2 HAA(UHYA S 14,800 1 1 14,800
2045|1149 U4 4X|A27 15,000 1 1 15,000
2046 (= MHIEHO| SSEICHH UEA|FR 13,500 1 1 13,500
2047 [t A2 ET MCH7F OG- R= 13,800 1 1 13,800
2048 |[F10 HCH= T2 ZHES| [HOAR 13,500 | 1 1 13,500
2049|282 A0} 1 sex|2z5| 12500 | 1 1 12,500
2050 (282 At 2 se=laz=] 12500 | 1 1 12,500
2051|282 At 3 sex|2z5| 12500 | 1 1 12,500
2052|282 20 4 sE=|azs 12,500 1 1 12,500
2053[28&= &L} 5 2ES|AES 12,500 1 1 12,500
2054282 €L 6 sE=|azs 12,500 1 1 12,500
2055 | 0| 2 J| &t A QEjAI] 12,800 | 1 1 12,800
2056 [0|C|O] {11 M7 0|5 AlZH 15000 | 1 1 15,000
20570t EfCH & 2 HA¥AIZH 15000 | 1 1 15,000
2058 [AMME QI3 OHS oFdt AlZH 12,000 | 1 1 12,000
2059 |Lt= 79| OF2Zd = Ot {2|XfAIZ| 14,000 | 1 1 14,000
2060 (3 &2 X|=0|C} UAM| 22,000 | 1 1 22,000
2061|2E #7t0| 22|35} FHEMHl 12,000 [ 1 1 12,000
2062 [AAZE 82| YA [FHMM I 12,000 | 1 1 12,000
2063 |4l AEFYUO| EtAL  |He2|otHs 28,000 1 1 28,000
2064 [Op=x0l Ql= H|2 52 |x=50t2F 25000 | 1 1 25,000
2065 [ Al O[ALS| At |LpE o= 15800 | 1 1 15,800
2066 |AlBtot =Ho & d2|A {2307y 18,000 | 1 1 18,000
2067 |2 XtAM A|XtSH= OFE H|dF2|0tE4 16,000 | 1 1 16,000
2068 |12 E 1 L= & ofl 15,000 1 1 15,000
2069 |121E 2 LI 2o 15,000 1 1 15,000




2070|102 3 LI={ 2o 15,000 1 1 15,000
2071|12HE 4 LI-={ 2o 15,000 1 1 15,000
2072|102 5 Lhaofd 15,000 | 1 1 15,000
2073|102 6 Lig|2ol¢ 16,000 | 1 1 16,000
2074|22f EO0toF ofj#eC} L= [LFEfofi¢ 15,000 | 1 1 15,000
2075 |7HE of & M 2r2 L Oof| Al {LIERof¢ 15,000 | 1 1 15,000
2076 |10 = ESE ofA2o¢ 14,500 | 1 1 14,500
2077 |Kt2te] 242 (&0l HofE+ 12,000 1 1 12,000
2078 |2 e17| HETH| AMEAAET 15,000 1 1 15,000
2079 |0 =2t0f 7+ =e2|stXRHO|4AM 2lojHt 18,000 1 1 18,000
2080|0| =20 2t s =Skt  |O|X{O{H{ 20,000 | 1 1 20,000
2081 |M[Atol &t Al HAEE(A7[0]32F 16,000 | 1 1 16,000
2082 | I3} Alsl(HeteroSpace : |24 H 0| C| 12,000 | 1 1 12,000
2083 [=£9| 1 C-=0f 0] 15,000 1 1 15,000
2084|520 E 2 C}50f 0| 15,000 1 1 15,000
2085 |&=%59| EF 3 CH50f| 0| 15,000 1 1 15,000
2086 [T X & A} AE 1 40| 0] 15,000 1 1 15,000
2087 M XX ZXF AE 2 40| 0] 15,000 1 1 15,000
2088 |[MX| & ZXF AE 3 ‘J &0 0] 15,000 | 1 1 15,000
2089 | X| & S Xt AIE 4 A4 0] 0 15,000 | 1 1 15,000
2090 | X & ZXt A|E 5 440{0]| 15,000 | 1 1 15,000
2091 | XA Xt Al 6 H400| 15,000 | 1 1 15,000
2092 |[MX| & X} AE 7 J40] 0] 15,000 1 1 15,000
2093 [0O|O|X| 2 8= BFX} A et 15,000 1 1 15,000
2094 |0|0|X| 2 8= Bt} 2 A et 17,000 1 1 17,000
2095 | 1 HI =5 E 2 16,800 1 1 16,800
2096 |l 2 L EEE 16,800 1 1 16,800
2097|0|0{Fol Otx|at =¢f  |AX[E€&{ 16,500 | 1 1 16,500
2098 [ZE0I5H 22|= 1 HMAQI=Y 12,000 | 1 1 12,000
2099 [ZE0}5tH 22|= 2 HMAQI=Y 12,000 | 1 1 12,000
2100 =08l 22|= 3 MA=Y 12,000 | 1 1 12,000
2101 [O{E A Aotof gtX| grage A4 15500 | 1 1 15,500
2102 |10CHO|| |I& 27471 &0 [ A 12,500 1 1 12,500
2103 | o™ E2[X| Tt HAIRHR 13,500 1 1 13,500
2104 || 9] AICHE AtopZt 1012L{2_¢ 13,500 | 1 1 13,500
2105|4441 10CH= A= YoHEi2jew¢ 13,500 | 1 1 13,500
2106 |0 =%+ 10CH, AMCHZ Xt0|ZtEj7¢ 13,000 | 1 1 13,000
2107 | &H| =2 MY gtofe ety 17,000 | 1 1 17,000
2108(0j 2lgtolet= M= o|loj224 17,000 1 1 17,000
2109 [AlLtE| 2 B|A|mD] =X|act 23,000 1 1 23,000
2110 |HIA L9t 1|29 ToKH /X 08 13,000 | 1 1 13,000
2111 [HIM L et n|2o| 2amfx dee| 14,000 | 1 1 14,000
2112 [BAEHA Melstol # 401d<2l] 14000 | 1 1 14,000
2113|2E K72 827 Q0228 14,000 | 1 1 14,000
2114|E5=£00 o|ash HEUE |22y 14000 | 1 1 14,000
2115 [0, a8 Lo[(Re|eHLa<2[3 13,000 | 1 1 13,000
2116|42|E oto], O = o223 13,000 1 1 13,000
2117 [12fE 7|Ci2|= YRelisy<a2ls 13,500 | 1 1 13,500
2118|GCHA 2 otFetrte Ms|2/3 12,500 | 1 1 12,500
2119(ret2 Eal= M A0HFA-<2(3 14000 | 1 1 14,000
2120|Lt= LHE =4 Brxl22[3 12,000 | 1 1 12,000
2121|2t4, 80| = Lio| TIFH|oj<2]3 14,000 | 1 1 14,000
21220l & 30| BHX A | H Y ST 15,000 1 1 15,000
2123 | 2 AL M (EAE | HEIRIT] 13,500 | 1 1 13,500
2124|417t 2 AHE e = 438 FEH 13,500 1 1 13,500
2125|0t=t2 Hi@= =X |[&F9g: 16,000 1 1 16,000




2126 |22 = S4H OrE2Ys 16,000 1 1 16,000
2127 |82 M2to| H Qs = 043 16,000 1 1 16,000
2128 |01 CE A0 ZS{M=EI4-AHRI=} 12,000 | 1 1 12,000
2129 |7tEF=HA 1 gredo|=t 15,000 [ 1 1 15,000
2130(7}EHsHA 2 gredo|=t 15,000 [ 1 1 15,000
2131|7}EsA 3 2redo|=t 15,000 | 1 1 15,000
2132 |H| & QZh@@ztolof7| 3) (o= 12,000 1 1 12,000
21332 A0|= MEISH EELICIFYHY= 9,800 1 1 9,800
2134 |AtE2 M2 @eto|ok7| 20|52= 11,000 1 1 11,000
2135[E2 AR A T 22 AHEAMI= 14,800 1 1 14,800
2136 |CIX| 2 &OIAL, Yshn 4=} 13,800 | 1 1 13,800
2137 |[MEHE MAAFAFHZEY= 19,800 | 1 1 19,800
2138 |52 gt FAet =4o|F¢/=} 11,000 | 1 1 11,000
2139|433l =2| Oj2f EaMEHG9I=} 11,000 | 1 1 11,000
2140 [2& wi: M7= HEISI0jE S 15,800 1 1 15,800
214152 o =2|Ad&UC [#87E| 16000 | 1 1 16,000
2142 (A&t ME Q= ol B e 13,000 1 1 13,000
2143|280l = Btat HA: #{gtd256H 13,500 1 1 13,500
2144 |4 080|E Ttst g Migtd25ls 13,500 | 1 1 13,500
2145 (X Q! TH =, 2 EIAHH) |[BMH=H 8,000 1 1 8,000
2146 |7t 2T MM A GARF X|§=%{0|CH 16,000 1 1 16,000
2147 | Xjofo| st of  |=fofojE4 16,500 | 1 1 16,500
2148 |4 XjOjo| wiol of 24 (OHEID|O|E: 16,800 1 1 16,800
2149 | XjO{o| wrii ot O 2l (7|20 0| & 13,800 1 1 13,800
2150 [S A O|OF7| (K| 7ts 2t ABIXHO[44 15000 | 1 1 15,000
2151 71 £E2 A2 HolA F{&Zo{olof} 16,000 | 1 1 16,000
2152 |C|X| 8, A H &= JE0|X[4 15,000 1 1 15,000
2153 || Z 2|7} 1(YA! Al2|= 5)[3tH0]X[1 14,500 1 1 14,500
2154 [ Z 2|7} 2(YA! Al2|= 6)|8HH0[X|4 14,500 | 1 1 14,500
2155|2|H Al CtEA M5t L[@=] 15,000 1 1 15,000
2156|240l SEA2 ofEA 4A7(2=] 16,000 1 1 16,000
2157 (0| ELLQl 2tojE 2|1 |0iEQRIEs 15,800 1 1 15,800
2158 [%10| Ofj=0| & mj MBlelEs 17,500 | 1 1 17,500
2159 (MBS E& & ZHXAE] 14,000 1 1 14,000
2160 |Lt= A st 12 =30/ A=) 13,800 | 1 1 13,800
2161 |NASA 1}SHX} Oftt7} E2{0|FA2] 13,800 | 1 1 13,800
2162|238 A4 EE7|Kt=aAHqX=] 13,000 | 1 1 13,000
2163 (M0lo] HH OtLfx=] 12,000 | 1 1 12,000
2164 |51 &f2| oSSy S| 7|A 2l 18,800 1 1 18,800
2165 (85 71| B Azt & |EgX4E 18,800 1 1 18,800
2166 |E5F 712 & AlstE & %%Iﬂ'é'. 18,800 1 1 18,800
2167 |E5F 712l & AlstE 712 %%Iﬂ'é'. 18,800 1 1 18,800
2168 |EF 712l & AlE AZ|E5NM Y 18,800 | 1 1 18,800
2169 |40l REE O AMN™e!d 18,000 | 1 1 18,000
2170|225 LS 23t Oro|3 40to[x o] 17,000 | 1 1 17,000
2171 |CHRdhe 02 (Ydte Opds|MAs 15000 | 1 1 15,000
2172 |0|=5k= OF3(Yste OFZA3 A =1 15,000 1 1 15,000
2173 | £85t= 0r3(Yste= OH2/MEs 16,000 | 1 1 16,000
2174 |2%t5= 03 (Yot OHHZEN R 16,000 | 1 1 16,000
2175|0 BE Aot= &7t Cf 34 3FL 10,000 1 1 10,000
2176|1 BH dot= 57t O A AFL| 10,000 | 1 1 10,000
2177274 (B2} ot = o 2eHds=L¢ 10,000 | 1 1 10,000
2178 | SHHZ (03} ot = OB 2{M|FL 10,000 | 1 1 10,000
2179 M2 X & 2@} st=[M=L¢ 10,000 | 1 1 10,000
2180 [BHICH2L7 | (B2} St= CHE | ST L 10,000 1 1 10,000
2181 |AtE &= Eaf OO L[(Et3} |2 M[ZFL 10,000 1 1 10,000




2182|aLt7|(Btel t= O E 2|5 FH{ 10,000 [ 1 1 10,000
2183 [0tz A Q1M (&N (Ttat BH49 7| =L 10,000 1 1 10,000
2184 |0tg A Ol M(sh(Tts} sHQ|7|FLI¢ 10,000 | 1 1 10,000
2185 |[2+E2 (02} o= CHid 5T L 10,000 | 1 1 10,000
2186 | X St=0 = £50|(2tz} |0l |=LI¢ 10,000 | 1 1 10,000
2187 |U= 22 O HE AtZ[ofojA0| 13,800 | 1 1 13,800
2188|122/ E & 71T &2 2=HE5Y1 16,000 1 1 16,000
2189 |CIO|O{Ef 2}0|E O C|M 14|35 Y 8,000 1 1 8,000
2190|CIO|O{Ef 2}O|E O C|M F4| 35 Y 8,000 1 1 8,000
2191 |CIHO|O{E| 2}0|E O C|M 4| JE Y- 8,000 1 1 8,000
2192 |CtO|O{E 2}0|E Of|C|M 44|35 Y 8,000 | 1 1 8,000
2193|CHO|O{E 2t0|E O C|M qU|-J 5 A 8,000 [ 1 1 8,000
2194|CHO|O{E| 20| E O C| M qU|-= 5 A 8,000 [ 1 1 8,000
2195|531 900At otHO| EUZA0[EZ2¢ 19,500 | 1 1 19,500
2196 [SHAHE YEH MA 7L FCHAD[EY 32,000 1 1 32,000
2197 |55t okt 22 BEUY7| |[HFEY 15,000 1 1 15,000
2198 |7t &t CHE S} O|oF7|(Rd&A4H3AY 15000 | 1 1 15,000
2199 HAEHS 3t EHEYO[XEfX|=| 13,000 [ 1 1 13,000
2200 |5 A= WEA (K| ALO||z=L}X|=| 15,000 | 1 1 15,000
2201 |[RIASE 22 kXt AFA [HLX|=| 25000 | 1 1 25,000
2202 [C|XtRI2 otCh= A AKX = 15,000 | 1 1 15,000
2203[1Q! Et& A|RHSH= B [27[X|=| 12,000 | 1 1 12,000
2204 |HEtHA X2 2 EMMIO| X & 15,000 1 1 15,000
2205|118t 2 e wrt | [EA[X|[2§ 17,000 | 1 1 17,000
2206 |1tEto 2 H= @=9| OfyZo|X| = 16,000 1 1 16,000
2207|120 me|E F&= ot B FX| B 13,000 1 1 13,000
2208 S dl0] YstE TStARY [ZR[XAIEE 13,000 | 1 1 13,000
2209 =2 AlZHOl SR R4 AKIAY 14500 | 1 1 14,500
2210[SF= 915 Z2of grofatiZd =X Ay 14800 | 1 1 14,800
2211 | &0 ot SEsH TA (YR 8,000 | 1 1 8,000
2212|ut2| 2zto& B2l [o|FX[AT 16,000 | 1 1 16,000
2213 |5 2o MoI7t? | RO[X[A] 14,000 1 1 14,000
2214 (B = M = MM H|FMXIAT 18,000 1 1 18,000
2215|823 5= Azt & JHX| O E[X| & 18,500 1 1 18,500
2216|&=% =o|Ato| X 7| |CHA|EI4ME 14,000 1 1 14,000
2217 |20 UChk= A ZEEH| 14,000 | 1 1 14,000
2218’4 0ot RAE YE 0| 0FH| 12,800 | 1 1 12,800
2219|A & 1(AAY) gk A KH| 15,000 | 1 1 15,000
2220|835 5t= O|lg: =%t LI-&5 & H| 12,000 1 1 12,000
2221 |5 E5h= 0|7 Atgl 2ol A | 12,000 | 1 1 12,000
2222 | 35 5= O| 7. Atst L] 12,000 1 1 12,000
2223|259 o 2RO FEEH] 14,000 1 1 14,000
2224 |7t LICH2 AR (RHH|H & ] 8500 | 1 1 8,500
2225 (0r=2| Y(EH HAaH A 3%H|] 8,500 | 1 1 8,500
2226 | S2|= Al AMEH| 12,000 | 1 1 12,000
2227 |A 29| oA O x| 2 fzA{#& | 13,000 | 1 1 13,000
2228 | AAE 49.5°C(AH| 0 4= 35[EH]| 13,000 | 1 1 13,000
2229|2 & ZAol= £0| TCh(ealE=EH 9,000 1 1 9,000
2230(77|s=0 2ot EEEACMET 13,000 1 1 13,000
2231|s=5X| oAt 5= j¥aMI1 16,000 1 1 16,000
2232|522 sl MS laUid M3 13,000 | 1 1 13,000
2233 (7711 A M =21 11,000 | 1 1 11,000
2234 |OFM = SHl= EAIE  |2L{MEH 16,800 | 1 1 16,800
2235 (2| AH[0] 210| O|5HiSH= IS HAH| 14,000 | 1 1 14,000
2236(7| sl ARt Ho| SA|AFPYME 14,000 1 1 14,000
2237[10CHet Sot= 4 O|OHA[EIE+4 13,000 1 1 13,000




2238[10CH 2t &5t= XA} O|OF10|H 14,000 | 1 1 14,000
2239|255 EH &2 2 E[Z 0| 16,000 1 1 16,000
2240|891 T30 £32| =44lE 13,000 | 1 1 13,000
2241 [ 20| MX|E BE= HYole 14,000 | 1 1 14,000
2242|HM 2 F U&= 317HK] WX 12,000 | 1 1 12,000
2243 [M|Ato] B E LIRS AFEHIH. 12,000 | 1 1 12,000
2244 || =, O| N HX|! 24 12,500 | 1 1 12,500
2245 |2 X[Z AATYA HFEHASA 20,000 | 1 1 20,000
2246 |0 4 =B F S M (XX D[ MH 16,000 1 1 16,000
2247 |LIot £Z2 AIEE THE |73 14,500 | 1 1 14,500
2248 | A|12HS Fe|ot, B (Y 13,000 | 1 1 13,000
22492 E dAamyA 1. FE QYT 12,000 1 1 12,000
22502 E Az 1. SE QY7 12,000 1 1 12,000
2251 [H[THO| AFZ|ER|2tne2((ES 14,500 | 1 1 14,500
2252 |2Fo| atst 15,000 | 1 1 15,000
2253 |et=2lo| Gt 16,000 1 1 16,000
2254 |FEAEIYUE|AE O E A 15,000 1 1 15,000
225542 &4, 220l 158 11,000 | 1 1 11,000
2256 |&E= EOF 34 18,000 | 1 1 18,000
2257 |[A K= QM7 U2 SHCH| 20,000 | 1 1 20,000
2258|01 A N2, FEH& MTE 15,000 | 1 1 15,000
259 M2 EQF O Z 16,000 | 1 1 16,000
2260 | F2|2to| Ol | Alm|(§ 11,000 | 1 1 11,000
2261 [ K| 42 HAIX|ZL A& 11,000 1 1 11,000
2262 | HAEE AAEF a5 17,000 1 1 17,000
2263 |22 T Of Y A x3 17,000 1 1 17,000
2264 M= AL, O|A JHE m|{EHH 15,000 | 1 1 15,000
2265 |[F 20| 7|CHX|= WEFHY 17,000 | 1 1 17,000
2266 |010| A 2H|E StX MEHXE 12,000 | 1 1 12,000
2267 |0|=7 BB o| StuE 3 15,000 | 1 1 15,000
2268 |YC|2t ¥FQo| HlLt= 27 12,000 1 1 12,000
2269 | E0| E(HBR OEHH 15,000 1 1 15,000
2270 UTH EH &5 H= ALE 16,000 1 1 16,000
2271 |Z2of i E(Ftmp{x 15,000 | 1 1 15,000
2272 |Why Not? 75 H (&= 2] 15,000 | 1 1 15,000
2273 |0 A%H W 2S5 O] X5 15,000 | 1 1 15,000
2274 [MESHE AHRIE S KI7| S 15,000 | 1 1 15,000
2275 | MU= SHsE otsH{L 15,000 | 1 1 15,000
2276 |0 U2 E| 2 MaN 15,000 1 1 15,000
22770 E|E] WY+ MHAOIEE 15,000 | 1 1 15,000
2278 |T0|= Al 2. MM 2EHEET 12,500 1 1 12,500
2279 |7 0|= AEF 3: b AGHEIEHT 12,500 1 1 12,500
2280 | &lCH, 4K MASHZ o[ A EEYL 13,500 | 1 1 13,500
2281 [MCH, B SIHAM & AHop? [ZFX[EE: 14000 | 1 1 14,000
2282 |¢|2st = @o| M. O EHo[EHET 14000 | 1 1 14,000
2283 |otEH A et EE =591 23,000 1 1 23,000
2284 (H H S M7 7HY A5 E™T 13200 | 1 1 13,200
2285 [eA XX A HHMEHMIRAEAM] 17,000 | 1 1 17,000
2286 |2 Fo| Aottty A (3 2t 12,900 1 1 12,900
22870t 7Ho| AIZH0| BEE o3 13,000 1 1 13,000
2288 |2|A-20F M3} 1: K| 21 ozl 14,000 | 1 1 14,000
2289|d2|A-201 Az} 2: ofF 404 LH[mEq 14,000 | 1 1 14,000
2290 |EHEHEof UM It 15,000 1 1 15,000
2291 (CHE3} XIRE 2OED oy 12,000 | 1 1 12,000
2292 |Ak=7| 2t O3 A oLzt ooy 13,800 1 1 13,800
2293|124 X|7|= K& 757 oy 12,000 1 1 12,000




2294 |M O E ¢l It & slqdgEoty 13,800 1 1 13,800
2295 |E 2| E & HigtE (0020|012 E 24,000 1 1 24,000
2296 | E B WY 23 do|O[HEF 13,800 | 1 1 13,800
2297 [2&d QE0|o O [o|F™EF 14,000 | 1 1 14,000
2298|MEQo| EA X[HET 14,500 [ 1 1 14,500
2299 | A O|M FX| AR STEAH 15000 | 1 1 15,000
2300 |0t OfO| 7} BFEA| (A X[Z2F 17,800 1 1 17,800
2301|Hte{= =1} O|&3t Al2hgo|&iZ= =1 16,000 1 1 16,000
2302[10CHE 2ot 7|22 A=Y FE{ 14,000 | 1 1 14,000
2303 (A IO LHA st 4EtE{=24 14,000 | 1 1 14,000
2304|353t FEH 12 AZ[E=23 14800 | 1 1 14,800
2305 |7t Bt2 1 otorlujch (M= 12,000 [ 1 1 12,000
2306 |47 =2argt SMZD 12,000 | 1 1 12,000
2307 |240|0] & Of= 10CH(RI 285 =5 13,000 | 1 1 13,000
2308 [t LI2(EY O &loto))|& §EY 13,000 1 1 13,000
2309 (O|N| M HRIECH 2 |2 ZE Y 13,000 1 1 13,000
2310| = AQ| ot 4=z 15,000 1 1 15,000
2311|0(2t2 2|2 Z Hi4e =2 15,000 | 1 1 15,000
2312 |HEFRH A A EH 17,000 | 1 1 17,000
2313|7|& o ® M7 O M o | ZIHE3H] 15000 | 1 1 15,000
2314 | Qldo| Fretst XA |2X[Z(2f 15000 | 1 1 15,000
2315 |CIAHRI2 OfEA HAZ2 §AHASHE| 16,000 | 1 1 16,000
2316|Lt= G40 HEHO ™ F8HKISI0[3 13,800 1 1 13,800
2317 |LtE Al 7|5 HHE 20 E4Tonj st AH 8,000 1 1 8,000
2318 |LtE Al 7|5t BHE 20 E4Tonj st AH 8,000 1 1 8,000
2319 |THHAE & L2 O XH0|-FetA 16,000 1 1 16,000
2320 |75l 3, g 2EHA 14,000 | 1 1 14,000
2321|2217} CHE HAl2 E2{440[8HA 15,000 | 1 1 15,000
2322 |2XF A HE AR E 9|12 E|8HA 12,000 | 1 1 12,000
2323 |M&a W= ofo|& 28st2] 14,000 | 1 1 14,000
2324 |2 AHO|A|A O O] A Holsfati 12,000 1 1 12,000
2325 |8t Q2o 2 =8 giCh(oldst=¢ 14500 | 1 1 14,500
2326 (M &S ot ojgto| MMi=Hotyl 18,800 1 1 18,800
2327|884 E QIEs +=¢ 1: 440|335t 18,500 1 1 18,500
2328 [BAd Q125 =¢f 2. AHEI oY 18,500 | 1 1 18,500
2329|MtEHAM H= o 25t St Estdt 18500 | 1 1 18,500
2330|BtztZ HiR= =M gAMI oty 19,800 1 1 19,800
2331|5AMl 1: Btat= HfR+= M{EFTHA 18,500 1 1 18,500
2332 |5 Al 2: Btet= Hf = AM{opL{she 18,500 1 1 18,500
23335 3: BtotE Hj 2= M{Z22stY 18,500 1 1 18,500
2334 |3t HE o™ o | ARBe| 13,000 | 1 1 13,000
2335|¢t HEF o™ = T Z0[sret] 13,000 | 1 1 13,000
2336|3t HEF Ao ™ o | &&0[5ef] 13,000 | 1 1 13,000
2337 |2tit= @ 5= 270 [AtHTHE} 13,000 | 1 1 13,000
2338 | Al0| Lio| WHAIQLICE |A5BtE[] 15000 | 1 1 15,000
2339 (M &2 F3to|Ct OX|SHLE 12,800 1 1 12,800
2340 (%27t ZEo|2t 2E= {H =5l 18,000 1 1 18,000
2341 |2 AH|O[A|A AEHH Holsigty 12,000 1 1 12,000
2342 |93 =9 1| nfst  |[OpHSHE|E 14,000 1 1 14,000
2343|240 AHo|EQJo| QIEOjsiAHsH A 14900 | 1 1 14,900
2344 |=SHEIY BRI HERRH A HEH7(3S3 12,000 | 1 1 12,000
2345 =St EIYEHap 2 Alo| JjEl7[d S 12,000 | 1 1 12,000
2346 |FStEFMCHOL DlEf DA B 7|s & 12,800 | 1 1 12,800
2347 |81 &7 Ad@loi=el 2| o=y 12,800 1 1 12,800
2348|0Y0| O| 20| ApEZ MiEV|HSEY 12,000 1 1 12,000
2349 A 0| HAO| Bl =7 [=UA S 17,000 1 1 17,000




2350|2E X QIR Z ftLta] 40| Tl 15,000 1 1 15,000
23513 A, W7t Br=2oj|o[ x| dE 16,000 1 1 16,000
2352 |ZEL} 19 SF(ACHA|SH ot A T 10,000 | 1 1 10,000
2353|The Boy 4= AOHEZZ0[HES 14,000 | 1 1 14,000
2354 | M| 22 7ol 2Lt Z3hs| Ct 16,000 1 1 16,000
2355 | A0 BHYCH B 2 iHSiet 12,000 1 1 12,000
2356 [=MFE2L HALL|ICH |Erea 14,500 1 1 14,500
2357|BTS, #&aF & TILICE |58 13,000 | 1 1 13,000
2358 |2t &70] 3 =3 HOo14 SR 13,500 1 1 13,500
2359|&=0| Ao LI 7430|g 13,500 1 1 13,500
2360 | EA0| &2 o|sto| dEX|g 14,000 | 1 1 14,000
2361 |38 Ul =7t 8 7|CHO|3T 13,500 | 1 1 13,500
2362 | A X2 QL= X|2|(F4E T 13,500 | 1 1 13,500
2363 |2 =01 1 o|l4324 15400 | 1 1 15,400
2364|ES0HY 2™ BEEhH [0|95 & 15,400 1 1 15,400
2365|2 A0 52 2= 1 2ol Hoig 15,000 1 1 15,000
2366 |2 A B2 2= 2 2ol (Hoig 15,000 1 1 15,000
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